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Question Number : 1 Question Id : 8024371191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Suppose a? + b? =4(a +3b-10), where a and b are two real
numbers. Then which of the following is true?

M a>p
2 a<b
@) a=b

(4) From the above equation nothing can be said about the

relationship between a and b.
Options :
8024374761. 1
8024374762. 2
8024374763. 3
8024374764. 4

Question Number : 1 Question Id : 8024371191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



a=T % a2 + b2 =4(a +3b-10), =T a ¥ b =T FEAT=F T=ATT 2 |

9 9 T T FrA-A7 7T 22

(1) a>b
(2) a<b
(3) a=b
(4) UL THIFI T a AT b & TEANE g9 F A H TF 9T

Tel FeT ST TFaT 2 |
Options :
8024374761. 1
8024374762. 2
8024374763. 3
8024374764. 4

Question Number : 2 Question Id : 8024371192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If the day after tomorrow is NOT Friday then which of the following
day CANNOT be the day before the day before yesterday?

(1) Sunday

(2) Monday
(3) Tuesday

4) Wednesday



Options :

8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 2 Question Id : 8024371192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT AT TTA FA % A3 F7 BF FA T2 8, 1 {7 7 7 w-A7 2
=TT g0 F F T (o7 T TH (2 71 of AHaT1 ¢ ?

(1) ===
(2) wrAT™
(3) "

(4) TEATT
Options :
8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 3 Question Id : 8024371193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which of the following words can be formed using only the
letters of the word

“‘FLOCCINAUCINIHILIPILIFICATION"? When forming a word
you can use a letter at most as many times as it appears in the
above word.

M) PHILIPPINES
(2 CHINCHILLA
(3) CINCINNATI

4) NATIONALITY
Options :

8024374769. 1

8024374770. 2

8024374771. 3

8024374772. 4

Question Number : 3 Question Id : 8024371193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



5 & T FA-IT 958 Fad 37 TA0 B TAN F7d g0 TATAT T THal
% St fr = fw 70 == “FLOCCINAUCINIHILIPILIFICATION” &

TIANT g0 22 952 HHI #3d T0HT d1T UF AT FT ATIFaT IaA1 919
TN FT T &, a1 9% 78 S =77 A7 955 § T g 2

(1) PHILIPPINES
(2) CHINCHILLA
(3) CINCINNATI

(4) NATIONALITY

Options :

8024374769. 1
8024374770. 2
8024374771. 3
8024374772. 4

Question Number : 4 Question Id : 8024371194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A box contains 10 red balls and 12 white balls. Two balls are
drawn from the box at random, one by one without replacement.
What is the probability that the second ball is red?

(1) 172
(2) 5/11

(3) 3/10
(4) 9/16

Options :

8024374773. 1
8024374774.2
8024374775. 3
8024374776. 4

Question Number : 4 Question Id : 8024371194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TERETI0TT AT 12 TwRE T2 2 | TAH T TF & A5 TFH 7
TaAT ITaeAToa ohT ATgI=gs &7 o HaTelt 9Tt & | g0 A% & a7
(1) 1/2

2) 5/11

(3) 3/10
(4) 9/16




Options :

8024374773. 1
8024374774. 2
8024374775. 3
8024374776. 4

Question Number : 5 Question Id : 8024371195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Three containers, namely cylinder, square prism and triangular

prism, are given. Which one of the following conditions will

ensure that they have identical volume?

(1) Their base areas and heights are identical
(2) Their base areas are identical

(3) Their heights are identical

(4) Their base areas and heights are different
Options :

8024374777. 1

8024374778. 2

8024374779. 3

8024374780. 4

Question Number : 5 Question Id : 8024371195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



& T "w T ¥, S S, At e G Gt ew €1 e
H T HIF-HT T o7 g TEATST F2dl g (o6 A1 F7 ATa oo

THT ZINIT 2

(1) S LTI & AR AT ITa00 HATAT U A 2 |
(2) S AT T AT TF THTT 2

(3) ST SETEAT T THIA E |

S E P y 2
(4) ST ATATIT F &AHA AT IAT SATSAT (9H 3 |
Options :

8024374777, 1

8024374778, 2

8024374779. 3
8024374780. 4

Question Number : 6 Question Id : 8024371196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

An apple is fully cut vertically through its centre 4 times such that

successive cuts are spaced at 45° in clockwise direction. How
many pieces are made?

(1) 4
(2) 16

(3) 8
(4) 12



Options :

8024374781. 1
8024374782.2
8024374783. 3
8024374784. 4

Question Number : 6 Question Id : 8024371196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

o . b . i i

U T I x| gid g0 4 A FLATAY T q9g FIET AT 5

- = - s o =~

STLIY FaTT T907 45° FI0T U7 SrA0TET (Go7 ° T | A e

FATT AT?

(1) 4
(2) 16
(3) 8
(4) 12

Options :

8024374781. 1
8024374782.2
8024374783. 3
8024374784. 4

Question Number : 7 Question Id : 8024371197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Bottles are to be packed in boxes. If 4 bottles are packed in a box
then 3 boxes are left unused, but if 3 bottles are packed in a box
then 3 bottles are left unpacked. The total number of bottles is

(1) 36
(2) 92
(3) 40
(4) 48

Options :

8024374785. 1
8024374786. 2
8024374787. 3
8024374788. 4

Question Number : 7 Question Id : 8024371197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



TTAAT FT (st § G FLAT S | T 4 TAAT FT UF Toof § T 0
FETE A7 3 o= AT I T F I AT G | TEg TS 3 AT T UF
o= 4 O T ST 2 &7 3 Aael 9% i T GE Tl 8 | Jraai Hf
(1) 36

(2) 92

(4) 48

Options :

8024374785. 1
8024374786. 2
8024374787. 3
8024374788. 4

Question Number : 8 Question Id : 8024371198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A tower is 50 m high. When the sun’s altitude is 45°, the shadow
of the tower is x m shorter compared to the case when the
altitude is 30°. The value of x is

(1) 50(+/3 —1)
@ 50(v/3 + 1)

(3)50/(V3)
(4) 5043

Options :

8024374789. 1
8024374790. 2
8024374791. 3
8024374792. 4

Question Number : 8 Question Id : 8024371198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



7 HATT 6t SaTe 50 HE. T | T TF 45° FF AT T AT g ar
T T Fr A 30° ¥ SHTE W g g & X+ G g
T XFTHNE .. |

(1) 50(v3—1)

(2) 50(v3 + 1)

(3) 50/(V3)
(4) 50V3

Options :

8024374789. 1
8024374790. 2
8024374791. 3
8024374792. 4

Question Number : 9 Question Id : 8024371199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The year BP, in the context of radiocarbon dating, is defined as
Years (BP) = 1950 — Years (AD)

An object from the Harappan site was dated to be 3050 BC. Its
age in years (BP) is

(1) =5000
(2) —-1100
(3) +1100
4) +5000

Options :

8024374793. 1
8024374794. 2
8024374795. 3
8024374796. 4

Question Number : 9 Question Id : 8024371199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



a9 BP, YRahTa e Ay [Meior 9ol & 929 H, 39 g 9
afrefie & @ (BP) = 1950 — & (AD)

SEOAT & I | UTH Ua F&] =t arg 3050 BC Haliva g2 | I&eht

=

AL aT (BP) 7. ¥

(1) -5000
(2) =1100
(3) +1100
(4) +5000

Options :

8024374793. 1
8024374794. 2
8024374795. 3
8024374796. 4

Question Number : 10 Question Id : 8024371200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which of the following months in 2021 will have the same
calendar (the same days and dates) as that in Sept 20207

(1) March
(2) April
(3) November

(4) June
Options :
8024374797. 1
8024374798. 2
8024374799. 3
8024374800. 4

Question Number : 10 Question Id : 8024371200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

79 2021 ¥ = O o &5 o2 7 Feiew 99 2020 F Free gge #

Lo ™ = R [ N - o
FASL o THIT g (AT 139, Tl (a11%) ?

(1) ==
(2) =
(3) Ta
(4

Options :

8024374797. 1
8024374798. 2
8024374799. 3




8024374800. 4

Question Number : 11 Question Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Find the value of x at which the given straight line crosses the
X-axis.

{3.6)

=
it |

M1.2

(2) 1.5

(3) 2.2
(4) 1.7

Options :

8024374801. 1
8024374802. 2
8024374803. 3
8024374804. 4

Question Number : 11 Question Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



[ )
|

STET &t W TWLT YT X - A& F FEAT 2, TS X FT HIF ITH FHior)|

4 (3.6)

(L-2)

(1) 1.2
(2) 1.5
(3) 2.2
(4) 1.7

Options :

8024374801. 1
8024374802. 2
8024374803. 3
8024374804. 4

Question Number : 12 Question Id : 8024371202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Five persons A, B, C, D and E form a queue. C and E are next to
each other. A has one person ahead of him and has at least one
person separating him from B. Which of the following statements
is certainly true?

(1) A and D are next to each other
(2) A and E are next to each other

(3) D and E are next to each other

(4) B and C are next to each other
Options :

8024374805. 1

8024374806. 2

8024374807. 3

8024374808. 4

Question Number : 12 Question Id : 8024371202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



= =AW A B CDTFETHF FaR aAd 2 ICTTF ETA-T 2 | A
& AWl T FATh 2, T4T 9% A€ B & 19 § &7 § 57 TH AT 2|
Fadasmar s REmsraaT g ?

(1) A &< D 9T-77 2 |

(2) A&7 E -1 £ |

(3) D &% E 9T9-97 £ |

(4) B &= C ome-7T £ |

Options :

8024374805. 1
8024374806. 2
8024374807. 3
8024374808. 4

Question Number : 13 Question Id : 8024371203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which of the following graphs qualitatively show(s) the function
5 2T

(A) (B) (C)

log y
y
y 12

X X X

(1) B and C but not A
(2) Aand B butnot C

(3) Only B
4 A, BandC

Options :

8024374809. 1
8024374810. 2
8024374811.3
8024374812. 4

Question Number : 13 Question Id : 8024371203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



=5 & T FF-T7(F) TTH OHF T T FeAT y = x2 Fl FTAT(IATA) &

(3)?

log y
Yy
.},112

X X X

(1) Bma C = AFEN
(2) AT BT C 7Tt

(3) *=« B
(4) A, BTAC

Options :

8024374809. 1
8024374810. 2
8024374811.3
8024374812. 4

Question Number : 14 Question Id : 8024371204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Four babies born in the month of April 2019 are randomly selected.
The probability that at least two of them will have the same date of
birth is,

(1) 81.2%

(2) 18.8%

3) 13.7%

(4) 86.3%

Options :

8024374813. 1
8024374814.2
8024374815. 3
8024374816. 4

Question Number : 14 Question Id : 8024371204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T 2019 F U | T=T BT 4 TOr91eA T AT =EE ©F F FAT AT JTAT
2| SHE T FG T FH 2 oot FF TVHTRATE UF 5 oA o UTiawar L.

g

(1) 81.2%
(2)18.8%
(3) 13.7%
(4) 86.3%




Options :

8024374813. 1
8024374814. 2
8024374815.3
8024374816. 4

Question Number : 15 Question Id : 8024371205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A chord AB in a circle subtends an angle of 30° at the circumference.
Then the angle subtended at the circumference by a chord of twice
the length of AB is

(1) 450

@ 600
(3) 900

(4) 1200
Options :
8024374817. 1
8024374818.2
8024374819. 3
8024374820. 4

Question Number : 15 Question Id : 8024371205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



U T | U SfraT AB T 9% 300 FT HI0T AT FIdl g | qa Siar
AB #T & AT @=TE 1 SUAT FTRT T0Y 9% AqTA R0 ST ATAT 10T ..
g

(1) 450

(2) 600

(3) 900

(4) 1200

Options :

8024374817. 1

8024374818. 2

8024374819. 3
8024374820. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
In a race, the winner beat the second placed by 10 m and the third

placed by 100 m. The second placed beat the third placed by 91 m.
Assuming that the speeds of the runners remained unchanged

throughout the race, the length of the race track was

(191000 m

(2) 900 m
(3) 910 m

(4) 909 m



Options :

8024374821. 1
8024374822. 2
8024374823. 3
8024374824. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

UF arg #, FAWAr €87 ¥ 97 A1 =t & 10 ' S 69 20 1
FT 100 T1. T T T TET 2 | TAL T I¥ AT S G0 T T
#1191 Y. T ZeraT & | AR, Tl vt #v w7 T SF F quteatad w2,

&t e et g A oft 2

(1) 1000 m
(2) 900 m
(3) 910 m
(4) 909 m

Options :

8024374821. 1
8024374822.2
8024374823. 3
8024374824. 4

Question Number : 17 Question Id : 8024371207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A square of side 2 units contains two half circles as shown in the
figure.

The area of unshaded region inside the square is

(1) 3—m/2
(2) 4 —m/2
3) 3 -m/4
44 —m/4
Options :

8024374825. 1
8024374826. 2
8024374827. 3
8024374828. 4

Question Number : 17 Question Id : 8024371207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



T 2 TS ST AT =9 F 2 Ao gt €, S o G § gatn
TAT 2 | A % ST - & W ATAwA L 2

(1) 3—m/2
(2) 4 —1/2
(3) 3—m/4
(4)4—m/4
Options :

8024374825. 1
8024374826. 2
8024374827. 3
8024374828. 4

Question Number : 18 Question Id : 8024371208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Tha nairad har crhart Aivae tha Par Manita NP and noantilatinn nf a
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country from year 2000 to 2008. Given that
Per Capita GDP = Total GDP/Population
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(1) 2002
(2) 2003
(3) 2006
(4) 2008

Options :

8024374829. 1
8024374830. 2
8024374831. 3
8024374832. 4

Question Number : 18 Question Id : 8024371208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T ST 17 AT Tt 297 &t, a7 2000 T 2008 T Ui =i Tahed 79
31tz (Per Capita GDP) % s\t (population) T germar 2 | =T
T 8 - I =Tk Tahel 9] 3cAT2 = Tl Tehed T IeA1E / TATT]

15.
14.
13.

:? : m GDP per capita - B Population (in Million) 12

10.
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(1) 2002
(2) 2003
(3) 2006
(4) 2008

Options :

8024374829. 1
8024374830. 2
8024374831. 3
8024374832. 4

Question Number : 19 Question Id : 8024371209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A 400 m wide river flows at 10 km/h. A man at point A wants to
cross the river. In still water he can row a boat at a maximum
speed of 20 km/h. Point B is exactly opposite A on the other
bank. If he wants to cross the river in the least possible time then
how far from B will he land on the other bank?

7

B
—-;irlﬂluw‘h
400 m

A
(1) 200 m.
(2) 100v3 m.
(3) 0 m.
(4) 50 m.
Options :

8024374833. 1
8024374834. 2
8024374835. 3
8024374836. 4

Question Number : 19 Question Id : 8024371209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



e 400 HT. ST A4S 10 Rt e Frafm wagdr g1 Hy AT Us
TTF T21 97 F2A7 F12a7T 2 | =97 9t 9 5% =71 20 &.91./5er 7
T o AT FoT aFar 2 | 6y B T e Sy A F ege e
g | T g FATh =IAqH T0F | 71 I FAT FATgal g ar 9g 9g B

[ [ y
= |

[ Y et ) Y
Rt 0 IT AL AT TT 9g =T ?

._-.Lnl Dlketv/h
400 m
L
A
(1) 200 .
(2) 100V3 7.
(3) 0 .
(4) 50 =T.
Options :

8024374833. 1
8024374834. 2
8024374835. 3
8024374836. 4



Question Number : 20 Question Id : 8024371210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In a cycle of spread of the infection, each person infects 3 more
people. One third of the newly infected people take precaution
and do not infect other people. No infected person dies or gets
cured until the end of third cycle of the spread. Starting with one
infected person, the number of people newly infected in the third
cycle is

(1) 12
(2) 15
(3) 27
(4) 30

Options :

8024374837. 1
8024374838.2
8024374839. 3
8024374840. 4

Question Number : 20 Question Id : 8024371210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



. 3 =, : = = o . s

T HHHIT F FHeATT F T H, ToAF A<F 3 AT ATHAT FT THHT FHa1

T AT THHT AR H H TF (dgTe ATagT=T 70T g A7 g0 Hl AR Ha
[ [ =

[l = e . - s [ = =
2t F7a 1 Frg oft TRiTT =i SO 9% F a9 9% T 3F grar g i
TEOTAT 2 | T S o AT F0F A9 = § A0 GRiET AT

Al

(1) 12
(2) 15
(3) 27
(4) 30
Options :

8024374837. 1
8024374838. 2
8024374839. 3
8024374840. 4

Part B Life Sciences

Section Id : 80243729
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 35

Section Marks : 70

Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 80243743
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8024371211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following options represents a series of the amino acids with
the decreasing pK; values of their side chains?

1. Arg Lys Cys His
2Lys Arg Cys His

3. Lys Arg His Cys
4 Arg Cys Lys His

Options :

8024374841. 1
8024374842.2
8024374843. 3
8024374844. 4

Question Number : 21 Question Id : 8024371211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

f=ifehd @19 41 ud faded ursd S@asll & ued gU pk, IH1 & HHl % & 0o
Y DI e=idl 87

1. Arg Lys Cys His
2. Llys Arg Cys His
3. Lys Arg His Cys
4. Arg Cys Lys His

Options :
8024374841. 1



8024374842.2
8024374843. 3
8024374844. 4

Question Number : 22 Question Id : 8024371212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The mechanism of oxygen transport by hemocyanin (containing Cu) is described
by Cult.Cu'*s O, = Cu?* .GEE'.{ZUE‘

Which one of the following techniques can be used to monitor the change in the
oxidation state of copper?

1. Mass spectrometry

2. Circular dichroism

3. Absorption spectroscopy
4. Fluorescence spectroscopy

Options :

8024374845. 1
8024374846. 2
8024374847. 3
8024374848. 4

Question Number : 22 Question Id : 8024371212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



SIS (Cu o) BRT HTaiTo URae o foeaniald i 39d gRI aivid dal
SIATEl Cyl* Cul* + 0, = &% .0

it @9 O U do-1® & 3Udr did & a0 Aa®] | §Gard $)
Jadlithd @34 & [od [ dl off 9Phdl & ?

1. GO e
2. gaiig gfdauiar

3. YN0 Wl h@]
4, Hicdiits Saeriimt

Options :

8024374845. 1
8024374846. 2
8024374847. 3
8024374848. 4

Question Number : 23 Question Id : 8024371213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A stoichiometric mixture of & and B anomers of D-glucose in water exhibits

1. net optical rotation proportional to the sum of the optical activities of each
anomer

2. no optical activity as the signs of optical rotation are opposite and they cancel
each other

3. no optical activity as the a and § anomers exist in the linear forms that are
optically inactive

4. no optical activity as they form a racemic mixture

Options :
8024374849. 1



8024374850. 2
8024374851. 3
8024374852. 4

Question Number : 23 Question Id : 8024371213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

DIAB P o qUl g UHRI D TP IHFHIBUTHAT fogyor urit # guid & |

1. Td® TR & USRig SHEa! & I & Suliae S §au guH

2. B3 i UhTRTg seay Tai el wife yaor guiH o Jdd [9udid & aurd U
TR B FHyE Had g |

3. 913 Wi UG ST ol &I Hild o U g TR WS wEul |
fFemH Bl € JYT UHRig =4 4 [Hiesg g B

4, ®I3 4l YHRIY SDAY T8l g1 Hifd d Td A T 41d &

Options :

8024374849. 1
8024374850. 2
8024374851. 3
8024374852. 4

Question Number : 24 Question Id : 8024371214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The rate constant for conversion of a substrate into the product is 707 s while
the reverse rate constant is 0% 7 . An enzyme enhances the rate of this reaction
by 100-fold. The equilibrium constant for this enzyme-catalyzed reaction is

1.1100

2. 10000
310

4. 1000

Options :

8024374853. 1
8024374854. 2
8024374855. 3
8024374856. 4

Question Number : 24 Question Id : 8024371214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T PG B JUIG H TUFRY B &3 TP 10+ 5= & oT8ih JepH &R 3D

1061 & | U U SfTear &1 52 &1 100-T1 981 4l & | 59 Tosd-3ailkd

HHTpYT &1 e s ¢ |

1.100
210000
310

4, 1000

Options :

8024374853. 1
8024374854. 2
8024374855. 3
8024374856. 4



Question Number : 25 Question Id : 8024371215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT involved in the formation of lipid rafts?

1. Sphingomyelin
. Cholesterol
. Glycolipid

- W

. Phosphatidylserine

Options :

8024374857. 1
8024374858. 2
8024374859. 3
8024374860. 4

Question Number : 25 Question Id : 8024371215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

fyiftea B9 o ve s o1 & Aefn § wfa Fd sar e,

1. THHERH
2. Pl

i

4 hEplefeaafe

Options :

8024374857. 1
8024374858. 2
8024374859. 3
8024374860. 4

Question Number : 26 Question Id : 8024371216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following statements about human LINEs (long interspersed
nuclear elements) is FALSE?

1. LINEs are located primarily in euchromatic regions.

2. LINEs cannot encode all the products needed for their retrotransposition, and
are dependent on SINEs for some  components.

3. Of the three human LINE families, LINE-1 is the only family to have actively
transpeosing members.

4. Active LINE-1 elements possess an internal promoter  located within the 5
untranslated region.

Options :

8024374861. 1
8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 26 Question Id : 8024371216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

HI-d LINEs (long interspersed nuclear elements) & ged ¥ AHiied o Wt

HUF T &7

1. LINEs TJ%0adT gebiafed el o safd eidr e

2. AU URTUEIART & (U LINEs 9 3axg® Idie! &1 $ed ol X 9@dl 8, a4l
$S gPh| o 1o18 SINEs R R eldr 51

3. G LINE &1 o9 470rgf &, 95aet LINE-1 9ol & gafiaRo) Uikhg 960 ud 9id 8|

4, WiehY LINE-1 Tl & 5' HSIATC] UaH H U iR I~ID SaRYT B ¢ |

Options :



8024374861. 1
8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 27 Question Id : 8024371217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Myosin molecules that assemble into bipolar filaments in the muscle are

1. Myosin |

2. Myosin Il
3. Myosin |V
4. Myosin V

Options :

8024374865. 1
8024374866. 2
8024374867. 3
8024374868. 4

Question Number : 27 Question Id : 8024371217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AR Y =i for Aol & fydi ol § weBa s © |

1. AEINA |

2 AEIfEA )
3. AEfEE
4 AT v

Options :
8024374865. 1
8024374866. 2



8024374867. 3
8024374868. 4

Question Number : 28 Question Id : 8024371218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which of the following statements about R-banding of metaphase chromosomes
is FALSE?

1. The heat treatment preferentially denatures the GC rich DNA to produce R-
banding pattern.

2. This is essentially the reverse of the G-banding pattern.

3. The R bands are Q (quinacrine) negative.

4. The DNA of R bands generally replicate early during the S-phase of cell cycle.

Options :

8024374869. 1
8024374870. 2
8024374871. 3
8024374872. 4

Question Number : 28 Question Id : 8024371218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



AHAGR] UME| & R-af57 & UeH H HHifdd $H 91 Us HY-H 7Tad &7

1. 314 a9 GC UH& DNA @ [dgd $dl & forgd R-dfE71 WY 3 gidl
el

2. dda H 48 G?@Tmﬁﬁﬂ'ﬂﬂ%l

3. R UfeTl (@59 W]WW%I

4 R Ufeql (@59 $DN.¢.WHHM¢IHIC 4RO & SR Seg] Biadarg- sial |

Options :

8024374869. 1
8024374870. 2
8024374871. 3
8024374872. 4

Question Number : 29 Question Id : 8024371219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the snRNAs given below base pairs with 5" splice site of pre mRNA?

1. U4
2. U;
3. Uy
4, Us

Options :

8024374873. 1
8024374874. 2
8024374875. 3
8024374876. 4

Question Number : 29 Question Id : 8024371219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



ifded @ 1 U6 snRNAs 98 mRNA @5 5' THET RIS ® 9 §R-JRTd gl g7

1. U4
2.3
3.y
4 s

Options :

8024374873. 1
8024374874.2
8024374875. 3
8024374876. 4

Question Number : 30 Question Id : 8024371220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following RNAs possesses the peptidyltransferase activity?

1. tRNA

2. 55 rRNA
3. 165 rRNA
4, 235 rRNA

Options :

8024374877. 1
8024374878. 2
8024374879. 3
8024374880. 4

Question Number : 30 Question Id : 8024371220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



F=ifdd RNAs H 8 &F 91 U TR Saeiaps dRiaay YR &dl o7

1. tRNA

2. 55 rRNA
3. 165 rRNA
4. 235 rRNA

Options :

8024374877. 1
8024374878. 2
8024374879. 3
8024374880. 4

Question Number : 31 Question Id : 8024371221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following statements about GAL gene expression is FALSE?

1. GAL4 is a positive regulator of GAL genes

2. The UAS region that regulates the GAL gene expression harbors short, phased
AT repeats every 10 base pairs

3. GALBO is a positive regulator of GAL4

4. GAL8BO is negatively regulated by GAL3

Options :

8024374881. 1
8024374882. 2
8024374883. 3
8024374884. 4

Question Number : 31 Question Id : 8024371221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5
GAL o & 3ff¥eaidd & deH | M=iidhd oI 91 Ue Y TTed &7

1. GAL4 GAL W< & Uth Y& RIHES HaES & |

2. UAS W& Sl fh GAL S @1 HiHeafdd @l FHaied a1 & S50 Wd® 10 &R gl
R Y TS AT IRIGHR Bldl o

3. GALS0 GAL4 &1 Uh U RIdS HUH® 8|
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Options :

8024374881. 1
8024374882. 2
8024374883. 3
8024374884. 4

Question Number : 32 Question Id : 8024371222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

UV- induced DNA damage causes advancing replication forks to stall. To avoid a
collapse of these stalled replication forks the cell uses:

1. non-homologous end joining
2. lesion bypass

3. mismatch repair

4. base excision repair

Options :

8024374885. 1
8024374886. 2
8024374887. 3
8024374888. 4



Question Number : 32 Question Id : 8024371222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Uv- URd DNA &fd wre ufadiaa [demaretl & 38vd & RU adl & | 39 3
ST HIdHiaa- TRl & 3731 &1 2reH & [ SIH! SUdi & &

1. HEET R S2[
2. &I JUET
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4, &R Jode &ifd gur

Options :

8024374885. 1
8024374886. 2
8024374887. 3
8024374888. 4

Question Number : 33 Question Id : 8024371223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following amino acids is characteristic of and is conserved in
response regulator of plant two-component systems?

1. Aspartic Acid
2. Glutamic acid
3. Tyrosine
4. Histidine

Options :

8024374889. 1
8024374890. 2
8024374891. 3
8024374892. 4



Question Number : 33 Question Id : 8024371223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Uy [&-ge Uoneial & Sfehdl (A H (Hifard oiF 91 U THEI o fafdse
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1. TEe® 3
2. TETH® 35
ERETl T
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Options :

8024374889. 1
8024374890. 2
8024374891. 3
8024374892. 4

Question Number : 34 Question Id : 8024371224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following signaling molecules is NOT a protein or a peptide?

1. Transforming growth factor o (TGF-a)
2. Erythropoietin

3. Granulocyte colony stimulating factor
4. Epinephrine

Options :

8024374893. 1
8024374894. 2
8024374895. 3
8024374896. 4



Question Number : 34 Question Id : 8024371224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374893. 1
8024374894. 2
8024374895. 3
8024374896. 4

Question Number : 35 Question Id : 8024371225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT an extracellular matrix protein?

1. Keratin

2. Laminin

3. Collagen
4, Vitronectin

Options :

8024374897. 1
8024374898. 2
8024374899. 3
8024374900. 4

Question Number : 35 Question Id : 8024371225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



feifepd B O U SifAda AU UeH T8 o7

1. P
2. THIAA
3. @A
4, faeHfdeT

Options :

8024374897. 1
8024374898. 2
8024374899. 3
8024374900. 4

Question Number : 36 Question Id : 8024371226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If you require to generate anergy in T cells, which of the following conditions will

you use?

1. Stimulate naive T cells with antibodies that bind both T cell receptor and CD28

2. Stimulate naive T cells with antibodies that bind only the T cell receptor

3. Stimulate naive T cells with antibodies that bind both T cell receptor and CD28
in presence of IL-4

4. Permit naive T cell interactions with activated macrophages in presence of IL-4

Options :

8024374901. 1
8024374902. 2
8024374903. 3
8024374904. 4

Question Number : 36 Question Id : 8024371226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374901. 1
8024374902. 2
8024374903. 3
8024374904. 4

Question Number : 37 Question Id : 8024371227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In echinoderms, sperm direction is provided by

1. Calcineurin
2 Bindin

3. Resact

4, EBR1

Options :
8024374905. 1
8024374906. 2



8024374907. 3
8024374908. 4

Question Number : 37 Question Id : 8024371227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

. S@IIsHl o, <RIV AFIeRH 34d gR1 UM o 9l &
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2 o=

3. frfae
A, EBR1

Options :

8024374905. 1
8024374906. 2
8024374907. 3
8024374908. 4

Question Number : 38 Question Id : 8024371228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If an early cleavage stage wild type Drosophila embryo is injected with bicoid

mRNA at the posterior pole then

1. head structures develop at posterior pole, while the same is inhibited at
anterior pole

2. head structures form at both poles

3. head structures are not formed at posterior pole due to presence of posterior
morphogens

4. duplication of usual posterior structures occurs

Options :
8024374909. 1
8024374910. 2



8024374911.3
8024374912. 4

Question Number : 38 Question Id : 8024371228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374909. 1

8024374910. 2

8024374911. 3
8024374912. 4

Question Number : 39 Question Id : 8024371229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If the blastomeres of a 4-celled sea urchin embryo are isolated, each blastomere

can form a pluteus larvae. This is an example of:

1. autonomous specification
2. conditional specification
3. determination

4. mosaic development

Options :
8024374913. 1



8024374914. 2
8024374915. 3
8024374916. 4

Question Number : 39 Question Id : 8024371229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374913. 1
8024374914.2
8024374915. 3
8024374916. 4

Question Number : 40 Question Id : 8024371230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following plant homeotic genes does NOT encode MADS-
domain transcription factor involved in floral organ specification?

1. AP2
2 AP1
3. AP3/P1
4. AG

Options :

8024374917. 1
8024374918.2
8024374919. 3
8024374920. 4

Question Number : 40 Question Id : 8024371230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Fifed ®1F 91 U Urey sifgife® SiH gl & faFaeH o 2fie MADS- 343
TG BR® @] Hed Tel Bl 87

1. AP2
2 AP1
3. AP3/P1
4, A

Options :

8024374917. 1
8024374918. 2
8024374919. 3
8024374920. 4

Question Number : 41 Question Id : 8024371231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which of the following is a plant secondary metabolite?

1. Kaurenoic acid
2. Abietic acid

3. Proline

4, Pyruvate

Options :

8024374921. 1
8024374922.2
8024374923. 3
8024374924. 4

Question Number : 41 Question Id : 8024371231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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4, g3%&de

Options :

8024374921. 1
8024374922. 2
8024374923.3
8024374924. 4

Question Number : 42 Question Id : 8024371232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following metabolites formed during Calvin-Benscon cycle in
chloroplast is involved in starch biosynthesis and can also be transported to

cytosol?

1. Triose phosphate

2. Glyceraldehyde-3 phosphate
3. Fructose-6-phosphate

4. Ribulose 1,5-bisphosphate

Options :

8024374925. 1
8024374926. 2
8024374927. 3
8024374928. 4

Question Number : 42 Question Id : 8024371232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374925. 1
8024374926. 2
8024374927. 3
8024374928. 4




Question Number : 43 Question Id : 8024371233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following essential plant mineral nutrients complexes with
mannitol, mannan, polymannuronic acid, and other constituents of cell wall?

1. Silicon

2. Chlorine

3. Manganese
4, Boron

Options :

8024374929. 1
8024374930. 2
8024374931. 3
8024374932. 4

Question Number : 43 Question Id : 8024371233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T DI R & aTdl uea! & 91y SiEisd sidl 87

1. falceE
2. FARM
3. B
4, R

Options :

8024374929. 1
8024374930. 2
8024374931. 3
8024374932. 4



Question Number : 44 Question Id : 8024371234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following plant proteins is targeted by HC-toxin produced by
the maize fungal pathogen Cochliobolus carbonum?

1. H"-ATPase

2. Histone deacetylase
3. ACC oxidase

4, MTA nucleosidase

Options :

8024374933. 1
8024374934.2
8024374935. 3
8024374936. 4

Question Number : 44 Question Id : 8024371234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

ifed ®19 91 U URY UIdH Hadh! dadl AeHd Dliadeiayd Hle-d
(Cochliobolus carbonum) gIR1 3d &d HC-HTTAY g dférd ‘@Idl 87

1. H™-ATPase

2, fe=aiH faudierzad
3. ACC Hadisd

4, MTA gidcaiiss

Options :

8024374933. 1
8024374934. 2
8024374935.3




8024374936. 4

Question Number : 45 Question Id : 8024371235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following causes constriction of blood vessels?

1. Carbon monoxide

2. Nitric oxide

3. Endothelin - 1

4. Atrial natriuretic peptide

Options :

8024374937. 1
8024374938. 2
8024374939. 3
8024374940. 4

Question Number : 45 Question Id : 8024371235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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3, TSIUfeH - 1
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Options :
8024374937. 1
8024374938. 2



8024374939. 3
8024374940. 4

Question Number : 46 Question Id : 8024371236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one is NOT the function of P-cells in the collecting ducts?

1. Na™ reabsorption
2. K” secretion
3. H20 reabsorption
4, H™ secretion

Options :

8024374941. 1
8024374942. 2
8024374943. 3
8024374944. 4

Question Number : 46 Question Id : 8024371236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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3. H,0 1 THa=IET
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Options :



8024374941. 1
8024374942. 2
8024374943. 3
8024374944. 4

Question Number : 47 Question Id : 8024371237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT produced by a-amylase digestion of ingested

amylopectins?

1. Glucose

2. Maltose

3. Maltotriose

4, o -limit dextrins

Options :

8024374945. 1
8024374946. 2
8024374947. 3
8024374948. 4

Question Number : 47 Question Id : 8024371237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Tl U TS aUfde g & o -UHTSeS & UrdH d FEifed oF 9 Uh 38— T8l
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Options :




8024374945. 1
8024374946. 2
8024374947. 3
8024374948. 4

Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

What kind of inheritance is indicative in the pedigree chart shown below?

1. Y - linked

2. X-linked dominant

3. X-linked recessive

4. Autosomal dominant

Options :

8024374949. 1
8024374950. 2
8024374951. 3
8024374952. 4



Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

fe i U derge eI forg UeR &1 4RI 9fEe &kal 7

1. Y- Heclid
2. X- Ugoi- UHEt
3. X- Ugeh SUHdt

4, AT TyTdt

Options :

8024374949. 1
8024374950. 2
8024374951. 3
8024374952. 4

Question Number : 49 Question Id : 8024371239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following is a correct statement about the difference between a
F~ cell and Hir cell?

1. In F7cell F factor is an integral part of bacterial chromosome, while in Hfr cell F
factor is present as an episome,

2. F~ and Hfr are synonymous.

3. In F* cell a bacteriophage carries F factor, while in Hfr cell F factoris an
integral part of bacterial chromosome

4. In F7 cell F factor is in the form of an episome while in Hfr cell, F factor is
integrated into the bacterial chromosome.

Options :

8024374953. 1
8024374954. 2
8024374955. 3
8024374956. 4

Question Number : 49 Question Id : 8024371239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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3. F* IR & Ud SlauiS F &R ®I YRY Sl 8, Siaid Hir HIe H F
SRS W 1q10aD TUH &1 U AU~ YA £ |
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Options :




8024374953. 1
8024374954. 2
8024374955. 3
8024374956. 4

Question Number : 50 Question Id : 8024371240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Mutation is essential for genetic variation. Which one of the following events can
lead to wvariation amongst the gametes produced by males of Drosophila

melanogaster?
[Crossing over does not occur in D. melanogaster males.]

1. Segregation

2. Imprinting

3. Recombination

4. Independent Assortment.

Options :

8024374957. 1
8024374958. 2
8024374959. 3
8024374960. 4

Question Number : 50 Question Id : 8024371240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



HaR fafaear & fere IaRad= sfard g1 Feifed @ 9 te gea =R
SIFIGen Ao e g R Sdliaa ! H [Ffaftd 3O ®X 9ol 57

R 31 fAa7iiesd amg T gar g

1. YOYHA

2. fagA

3. Qi

4, Tqd HYgEA

Options :

8024374957. 1
8024374958. 2
8024374959. 3
8024374960. 4

Question Number : 51 Question Id : 8024371241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Cytoplasmic male sterility (CMS) in plants is caused by mutation in the
mitochondrial genome. CMS can be restored by a nuclear gene, restorer of
fertility (Rf), which is a dominant character. If a male sterile pea plant is pollinated
by a fertile male pea plant with Rf in heterozygous condition, the progeny
obtained will have

1. all male sterile progeny

2. all fertile progeny

3. 50% of the progeny fertile and 50% male sterile
4. 75% of the progeny fertile and 25% male sterile

Options :
8024374961. 1
8024374962. 2



8024374963. 3
8024374964. 4

Question Number : 51 Question Id : 8024371241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

U1yl & Sif¥@IEed] R 9961 (CMS) GIB 0@ E ol § SdRad- & SRU B & |
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1. I R 990 Il
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4, 75% Tdfcdl a9 Ul 25% R 99

Options :

8024374961. 1
8024374962. 2
8024374963. 3
8024374964. 4

Question Number : 52 Question Id : 8024371242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which among the following states has the highest forest cover in terms of
percentage of geographical area?

1. Chattisgarh

2. Uttarakhand

3. Madhya Pradesh
4. Odisha

Options :



8024374965. 1
8024374966. 2
8024374967. 3
8024374968. 4

Question Number : 52 Question Id : 8024371242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Yrifcie &3 & ufawd & g | FEifed uel | ° oo gaiiis a1 83 82

1. BTG
2 3aRIEs
3. 99 Yo
4. 354l

Options :

8024374965. 1
8024374966. 2
8024374967. 3
8024374968. 4

Question Number : 53 Question Id : 8024371243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which of the fellowing phytopathogens has predominantly necrotrophic mode of
colonization?

1. Phytophthora infestans
2. Erwinia spp.

3. Erysiphe pisi

4. Puccinia graminis

Options :
8024374969. 1



8024374970. 2
8024374971. 3
8024374972. 4

Question Number : 53 Question Id : 8024371243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Fiford [5G UERINToH® 8§ J&0q4] Haeyad &1 Sadmadl Tue sidl 67

1. ISP 35

3. EIw oidl
A, GFAETT AEET

Options :

8024374969. 1
8024374970. 2
8024374971. 3
8024374972. 4

Question Number : 54 Question Id : 8024371244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following approaches is INCORRECT in classifying organisms
from kingdom Animalia?

1. Spicules were used as a primary criterion for the classification of phylum
Porifera

2. Protostomes were classified into two major lineages; Lophotrochozoans and
Ecdysozoans

3. Hemichordates were placed in same superclass as Echinoderms because both
have ciliated larvae

4. Ambulacrians included Echinoderms and Hemichordates

Options :

8024374973. 1
8024374974. 2
8024374975. 3
8024374976. 4

Question Number : 54 Question Id : 8024371244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374973. 1
8024374974. 2
8024374975. 3
8024374976. 4

Question Number : 55 Question Id : 8024371245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In a population showing exponential growth, per capita growth rate will:

1. decrease as population size increases

2. increase as population size increases

3. remain constant as population size increases

4. increase initially and then saturate at large population sizes

Options :

8024374977. 1
8024374978. 2
8024374979. 3
8024374980. 4

Question Number : 55 Question Id : 8024371245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



S oHuE H uien 9fs UEfkid of 381 8, uidoafad gfs &x 8 g

1. TRTae oI S99 AHTHR S |

2. 9fg oY SHEEA IR de7 |
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Options :

8024374977. 1
8024374978. 2
8024374979. 3
8024374980. 4

Question Number : 56 Question Id : 8024371246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Mycorrhizal fungi are associated with a large variety of plant species. The diagram
below shows the cost-benefit curves from individual plants with or without
mycorrhizal fungi associated with the roots across a soil nutrient concentration

gradient.

Plant without mycorrhizal fungi

Plant size

Plant with mycorrhizal fungi

>

Soil nutrient concentration

Which one of the following options best describes the association between the

plant and mycorrhiza when soil nutrient concentrations are high?

1. Parasitism

2. Mutualism

3. Competition

4, Commensalism



Options :

8024374981. 1
8024374982. 2
8024374983. 3
8024374984. 4

Question Number : 56 Question Id : 8024371246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Hahgad BhG [didy YR & Uley Fanlad! ¥ 94 5| Heifed @i w@e
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Plant without mycorrhizal fungl

Plant size

—

Soil nutrient concantration

f=ifdd @19 1 ts fddey UGy aul damye & did & G Fdiod Uu®
Gisd 3w gl &l Gdicd 4 Y aftfd &l g7

1. GRSiigdr
2, HgiaaTial
3. gfaaifman
4, gg it

Options :

8024374981. 1
8024374982. 2
8024374983. 3
8024374984. 4



Question Number : 57 Question Id : 8024371247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following represents the largest outflux of nitrogen from the

atmospheric reservoir?

1. Biological nitrogen fixation

2. Nitrogen fixation due to lightning

3. Fixation on account of fossil fuel burning

4. Fixation by Haber's process for fertilizer production.

Options :

8024374985. 1
8024374986. 2
8024374987. 3
8024374988. 4

Question Number : 57 Question Id : 8024371247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. Sfad 13 io IRId bRl

2. HIHRI fEorel & SR Age o b
3. Sared St oA 9 di®i®e
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Options :

8024374985. 1
8024374986. 2
8024374987. 3
8024374988. 4

Question Number : 58 Question Id : 8024371248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5

Identify the plot that depicts the change in metabolic rate of an endotherm with
respect to change in environmental temperature

=

el
Metabolic rate
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Environmental temperature *C

2
o
B
2, §
LT
=
0 10 20 30 a0
Environmental temperature *C
3

Lid
Metabolic rate




Environmental temperature °C

[
Metabolic rate

0 j:ﬂ IID él} 4ID
Environmental temperature °C
Options :
8024374989. 1
8024374990. 2
8024374991. 3
8024374992. 4

Question Number : 58 Question Id : 8024371248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :
8024374989. 1

8024374990. 2
8024374991. 3



8024374992. 4

Question Number : 59 Question Id : 8024371249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The following statements describe the outcomes of genetic drift:

A. Genetic drift can eliminate alleles.

B. Genetic drift can be associated with population bottleneck.

C. Genetic drift is not observed in populations that increase in size, once they
grow through a bottleneck.

D. Genetic drift can be associated with founder effect.

Which one of the following combinations represents all correct statements?

1.A, Band C
2B CandD
3A BandD
4 A CandD

Options :

8024374993. 1
8024374994. 2
8024374995. 3
8024374996. 4

Question Number : 59 Question Id : 8024371249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1A BdYIC
2B CdylD
3.ABdYID
4 A CdYID

Options :

8024374993. 1
8024374994. 2
8024374995. 3
8024374996. 4

Question Number : 60 Question Id : 8024371250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Examples of antibiotic resistance highlight important features of natural selection.
Which of the following statements is NOT true?

1. Evolution by natural selection is progressive, it makes individuals ‘better.

2. Natural selection acts on individuals but it is populations that  change with
time.

3. Natural selection does not cause genetic changes in individuals

4. Natural selection acts on phenotype

Options :

8024374997. 1
8024374998. 2
8024374999. 3
8024375000. 4

Question Number : 60 Question Id : 8024371250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

icrsiidl & i UfdRis® &Edreil ©f Ieeul Uidide 994 & Heayyl faLedrel ol
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Options :

8024374997. 1
8024374998. 2
8024374999. 3
8024375000. 4



Question Number : 61 Question Id : 8024371251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following genomes is most appropriate to determine hybrids in
plants and animals?

1. Nuclear

2. Mitochondrial

3. Chloroplast

4. Mitochondria and chloroplast.

Options :

8024375001. 1
8024375002. 2
8024375003. 3
8024375004. 4

Question Number : 61 Question Id : 8024371251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

F=ifird & 91 U HoiH gredl quT sigeil H dde o MUk H Faifde 3udad o7

1. DadY

2. FBUBIT

3. g Ta@

4, TABIOHT dYT gRd ddd

Options :

8024375001. 1
8024375002. 2
8024375003. 3
8024375004. 4




Question Number : 62 Question Id : 8024371252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The common cuckoo, a parasitic bird, lays eggs in the nests of other bird species.
Soon after the cuckoo egg hatches, the chick shoves the nest owners’ eggs out of

the nest. This is an example of:

1. habituation

2. imprinting

3. innate behaviour

4. operant conditioning

Options :

8024375005. 1
8024375006. 2
8024375007. 3
8024375008. 4

Question Number : 62 Question Id : 8024371252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375005. 1
8024375006. 2
8024375007. 3
8024375008. 4

Question Number : 63 Question Id : 8024371253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following approaches/markers would be typically used for
discovering polymorphism between two closely related accessions of a crop

plant?

1. AFLP
2. GBS
3. S5R
4. RAPD

Options :

8024375009. 1
8024375010. 2
8024375011. 3
8024375012. 4

Question Number : 63 Question Id : 8024371253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



i @F 4 ufafiE)/sd t@ Bl UiY & & 9i-ed § TEs geddd &
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1. AFLP
2. GBS
3. 55R
4. RAPD

Options :

8024375009. 1
8024375010. 2
8024375011. 3
8024375012. 4

Question Number : 64 Question Id : 8024371254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Given below are a few approaches/techniques used in the analysis of plants:

A. Phenotype linked to the marker gene.

B. PCR using primers specific to the host genome.

C. Southern hybridization

D. PCR using transgene-specific primers.

Which one cof the following combination of approaches/ techniques can be used
to differentiate between transgenic and non-transgenic plants of a particular
variety if the site of insertion is unknown?

1. B and C only
2. A and D only
3.ACandD
4 ABandC

Options :



8024375013. 1
8024375014. 2
8024375015. 3
8024375016. 4

Question Number : 64 Question Id : 8024371254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375013. 1
8024375014. 2
8024375015. 3
8024375016. 4

Question Number : 65 Question Id : 8024371255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



In the context of plant breeding and genetic engineering, which one of the
fellowing statements is correct?

1. To achieve high expression level of a heterologous gene in a transgenic plant a
prometer of bacterial origin is often used.

2. F1 progeny derived by crosses between inbred lines with low genetic diversity
is more likely to show heterosis.

3. In Agrobacterium mediated plant transformation, always a single copy of the
transgene is inserted in the host genome.

4. Qualitative traits are typically characterized by discontinuous phenotypic
variation while quantitative traits often generate continuous phenotypic
variation.

Options :

8024375017. 1
8024375018. 2
8024375019. 3
8024375020. 4

Question Number : 65 Question Id : 8024371255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375017. 1
8024375018. 2
8024375019. 3
8024375020. 4

Question Number : 66 Question Id : 8024371256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The total number of cells in 1 ml of a bacterial culture was estimated to be 2.7 %
10°. The culture was diluted 27-fold and 100 ul seeded per well of a 96-well plate.
What is the final cell number per well?

1.1 % 10°
2. 27 = 10°
3.2.7 = 10°
41 % 10%

Options :
8024375021. 1
8024375022. 2



8024375023. 3
8024375024. 4

Question Number : 66 Question Id : 8024371256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

1 mi Siata® 434+ 8 i@l @ o0 91 2.7 x 10° Fuiia &1 71 | dadq
@1 27-TH1 TP [T 1 741 UF 96-FUD ©e H 100y Ufd $US 3@ 7411 Ufd
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1.1 % 107
2. 2.7 x 10°
3.27 % 10°
41 % 10*

Options :

8024375021. 1
8024375022. 2
8024375023. 3
8024375024. 4

Question Number : 67 Question Id : 8024371257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



In a cloning experiment, a DNA molecule isolated as a Pst | fragment was inserted
into the Pst | site of a cloning vector that is 3kb in length. Digestion of the
CONFIRMED clones with Pst | resulted in the appearance of a single band
corresponding to 3kb in an agarose gel. Based on this information, what is the
probable size of the cloned fragment?

1. 6kb
215 kb
3.3kb
4.45kb

Options :

8024375025. 1
8024375026. 2
8024375027. 3
8024375028. 4

Question Number : 67 Question Id : 8024371257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1.6 kb
21.5kb
3.3kb
4.45 kb

Options :
8024375025. 1
8024375026. 2



8024375027. 3
8024375028. 4

Question Number : 68 Question Id : 8024371258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following statements is TRUE?

1. Nick translation cannot be used for radio-labeling DNA fragments for use in
Southern hybridization

2. RACE can be used to obtain sequence information of the ends of a cDNA

3. In a 2-D gel electrophoresis for separating proteins, analytes are first separated
on the basis of their size and then on the basis of their pl.

4. AFLP markers are typically used to screen heterozygotes from homozygotes

Options :

8024375029. 1
8024375030. 2
8024375031. 3
8024375032. 4

Question Number : 68 Question Id : 8024371258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375029. 1
8024375030. 2
8024375031. 3
8024375032. 4

Question Number : 69 Question Id : 8024371259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following proteins produces a dark blue/purple color in the

presence of 5-bromo-4-chloro-3-indolyl phosphate and nitroblue tetrazolium?

1. Polynucleotide kinase
2. Alkaline phosphatase
3. B-glucuronidase
4. B-galactosidase

Options :

8024375033. 1
8024375034. 2
8024375035. 3
8024375036. 4

Question Number : 69 Question Id : 8024371259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Ut et -fier/SiHT 31 3G Bl 67
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Options :

8024375033. 1
8024375034. 2
8024375035. 3
8024375036. 4

Question Number : 70 Question Id : 8024371260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following sets of terms is matched correctly?

1. Fluorescence microscopy: Use of dyes that absorb and emit light of the same
wavelength

2. Confocal microscopy: Use of pinpoint illumination and detection apertures

3. Confocal microscopy: Use of pinpoint illumination and detection apertures

4. Gas Chromatography: Used for analysis of non-volatilized carbohydrate
molecules

Options :

8024375037. 1
8024375038. 2
8024375039. 3
8024375040. 4



Question Number : 70 Question Id : 8024371260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

YEGIG Bl [Eithd ®i- 91 9HE Ydimdl § Hatd 87

1. BfEiiT Gemeet: I9®! &1 5ai S 6 90F aUTe e & W B A0 aul
Jogoid ®d T

2. DHGIHT (G1H) YEHC: Y55 Ueiit oyl Sg- GRS B 3R

3. FIsH (fF1): Taese IoliHl H Wiagiie oi HUSl &1 DNA-DNA SA1G1HaT &
ST & U &R TS| & §id HdGe 8 9 & [T Iuan]

4,719 gufcifaat: 3-argsiic dralereac U & (92l o fU ugn]

Options :

8024375037. 1
8024375038. 2
8024375039. 3
8024375040. 4
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Question Number : 71 Question Id : 8024371261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following statements were made to suggest the existence of an enzyme —
substrate complex.

A. At constant concentration of enzyme, the reaction rate increase with increasing
substrate concentration

B. An enzyme-catalyzed reaction has a maximal velocity

C. At constant concentration of the enzyme and substrate, an increase in the
reaction rate is observed,

D. An enzyme catalyzed reaction is not influenced by high substrate
concentration.

Which of the above statements suggest the existence of an enzyme — substrate

complex?

1. Aand B
2 BandC
3.AandD
4, D only

Options :

8024375041. 1
8024375042. 2
8024375043. 3
8024375044. 4

Question Number : 71 Question Id : 8024371261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



T TelgH-Dsd (Y0 B 3id DI Flidd e & 18 HH Y- §91 T |
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8. o Toigd Sl ififerar ot siftan iy gt 2

C. TasH aUT DG & ad drsal i), A e d te afs cal Il & |

D. TP TwgH JdRd AU Pgd @ =3 9rgal 4 gufad Aei eidi & |
SWRIGd B Ul SYF/HYH CAISH-BU5d B 3od Higdl 4 HHTTdd @2l o7

1. AdUIB
2 BdUlC

3 ATYUID
4 FIAD

Options :

8024375041. 1
8024375042. 2
8024375043. 3
8024375044. 4

Question Number : 72 Question Id : 8024371262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



An enzyme catalyzed reaction comparing proton and deuteron transfer reactions
yielded the following kinetic data

ket [H], 577 70.7
K [H], mM 1.03
k. [D1, 57 10.3
K [D], mM 1.06

Which of the following represents the turn over numbers (M-' s7) for proton
transfer, deuteron transfer and the kinetic isotope effect, respectively?

1. 68640, 9717, 14
2. 6864, 972, 7

3. 728210, 1091, 14
4. 68640, 9717, 7

Options :

8024375045. 1
8024375046. 2
8024375047. 3
8024375048. 4

Question Number : 72 Question Id : 8024371262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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kear [H1, 577 70.7
K [H], mM 1.03
k.t [D], 57 10.3
K [D], mM 1.06
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1. 68640, 9717, 14
2. 6864, 972, 7

3. 728210, 1091, 14
4. 68640, 9717, 7

Options :

8024375045. 1
8024375046. 2
8024375047. 3
8024375048. 4

Question Number : 73 Question Id : 8024371263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The first step in the biosynthesis of valine begins with enzyme catalyzed
condensation of two molecules of pyruvic acid. If an equimolar mixture of
13CH1COCO0H and "2CH;COCOOH are used as substrates for the reaction, which
one of the following would represent the correct isotope incorporation pattern of
the pro-R and pro-S diastereotopic methyl group in valine?

50% "*CH; (pro-R), '2CH;z (pro-S)

1. . .
50% "*CH; {pro-R), "*CH;: (pro-S)
> 75% “CHs (pro-R), “CH: (pro-5)
" 25% '2CH; (pro-R), CH; (pro-5)
25% "CH: (pro-R). *CH: (pro-5)
5 25% 2CHs (pro-R), CHa (pro-5)
" 25% "“CHs (pro-R), *CH: (pro-3)
25% "“CHs (pro-R), “CH: (pro-5)
4 75% "CH; (pro-R), *CHs (pro-5)

25% "“CH;: (pro-R), "“CH: (pro-5)

Options :

8024375049. 1
8024375050. 2
8024375051. 3
8024375052. 4

Question Number : 73 Question Id : 8024371263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



e & SIaURTuT H Gy 9301 Gl UISEiam S & SU[el & TaTgH Jaiid g
T P BT 81 TfG 13CH;COCO0OH TUT 12CH;COCO0H &1 Te THAITR aEy @l
SR Sfufea & fou v orisg S fiar oe, O Feifeg o= @1 ue afem o
pro-R @Y1 pro-s Sfdiddl ffad Ausd 958 & 9l gaiHe 3934 & WEy
I Gidl &7

50% 13CHz (pro-R), 2GHs (pro-S)

1 50% 12GHs (pro-R), *GHs (pro-S)

5 75% 13CHa (pro-R), 2CHs (pro-S)
" 25% 12CHs (pro-R), 1*CHa (pro-S)

25% 13CHz (pro-R), 2CHz (pro-S)
25% 12GHz (pro-R), *CHs (pro-S)
25% 13GHz (pro-R), *CHs (pro-S)
25% 12CHz (pro-R), 2CHa (pro-S)

75% 12CHz (pro-R), 13CHs (pro-S)
25% 13CH: (pro-R), 1*CHs (pro-S)

Options :

8024375049. 1
8024375050. 2
8024375051. 3
8024375052. 4

Question Number : 74 Question Id : 8024371264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The following disulfide bond containing peptide was digested using trypsin. How
many peptide fragments will be produced by the digestion?

MTPOQKAVILNSCTYRPYPM

MOGCLKVCVNPCGRLTDEH
I

1. Three
2. Four
3. Five
4, Six

Options :

8024375053. 1
8024375054. 2
8024375055. 3
8024375056. 4

Question Number : 74 Question Id : 8024371264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



HHifdd fgachizs s~ gad ULIZs &I Ui (et o fadr 71411 urad 9§ UeiEs
o for Ws Idiad giil?

MTPOQKAVILNSCTYRPYPM

NQGCLKVCVNPCGRLTDEH
| I

1. 9
2. 4R
BRI
4.8

Options :

8024375053. 1
8024375054. 2
8024375055. 3
8024375056. 4

Question Number : 75 Question Id : 8024371265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A 100 residue long protein has a single chromophoric residue (tyrosine). The UV
absorption of this protein and a homologous protein (also with a single tyrosine
residue) was monitored at 280 nm at different pH conditions. A plot of the
absorbance as a function of pH is shown below. The locations of the tyrosine
residue in the context of the protein sequences is also shown in the figure.

— A —
S|1 25 so 75 100 =
o1 1 1 1 =
2 i 2
A 2
: .
< il : =i
6§ 7 8 9 10 11 12 6 7 8 98 10 11 12
pH pH

Which one of the following rationalises the difference in the two pH titrations?

1. removal of the hydroxyl group of tyrosine above pH 11
2, location of the tyrosine residue in the protein structure
3. pH dependent changes in the absorption in the polypeptide main chain

4. hydrolysis of the polypeptide as a function of pH

Options :

8024375057. 1
8024375058. 2
8024375059. 3
8024375060. 4

Question Number : 75 Question Id : 8024371265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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3qad &1 & 4 e sl & siar mar g |

A
1 25 S50 75 100
T T
Tyr

Absorbance (A.U.)
Absorbance (A.U.)

a

H
i
A
6 7 8 8 10 11 12

pH
f=ifded ®1H W Us faded &l pH URadAl § fafly=a1 &1 gidae o axdl & ?

1. pH 11 & JWR ERINH & HZSIEET GYg &I FHaru
2, Ui & &0 H ey 3g98 &1 &

3. UIU@TE e g% §@a § pH Rk s@eigor o ufgd-
4, pH ™ Ud YD & Y1 URULISS Bl Sd-uge-

Options :

8024375057. 1
8024375058. 2
8024375059. 3
8024375060. 4

Question Number : 76 Question Id : 8024371266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The 15 base-paired nucleic acid molecule shown below is dissolved in an aqueous
buffer of pH 7.3.

5"-AGUUCGGAUAUCGU G-3'
3'-UCAUGCCUAUAGCA C-5"
Which one of the following statements is INCORRECT?

1. It can be a double-stranded DNA molecule in a B-form helix
2. It can be a double-stranded DNA molecule in an A-form helix
3. It can be a double-stranded RNA molecule in an A-foarm helix
4, It can be double-stranded RNA molecule in a B-form helix

Options :

8024375061. 1
8024375062. 2
8024375063. 3
8024375064. 4

Question Number : 76 Question Id : 8024371266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



5 <=1l T 15 &R-gH fdad 3 ®UI Bl Ud pH 7.3 & odig 349Y HiaRis |
HieTl 7T

UAUCGU G-3"
JAUAGCA C-5'
T 9 s FYI TTad 6 ?

1. 98 UD B-3HIEU HUSTH H fg-Ioe® DNA 0] &l Hbd o
2. U8 U A- 3MHE0 pusdl | fg-I5s]® DNA 31U &l 9hd o
3. U8 U A- 3MfHE0 pusdl | fg-I5sd RNA 3 51 Udhd 5
4, U8 U® B-3HUEU HUSTH H [§-Iou® RNA 3/U] &l Thd o

Options :

8024375061. 1
8024375062. 2
8024375063. 3
8024375064. 4

Question Number : 77 Question Id : 8024371267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements were made about sex determination in Drosophila
melanogaster:

A. It is achieved by a balance of female determinants on the X- chromosome and
male determinants on the autosomes.

B. A Drosophila with 0.66 value of X:A ratic would develop intersex type.

C. Due to noninvolvement of ¥ chromosome in sex determination process, XO
Drosophila develop as normal fertile male.

D. The high value of X:A ratio facilitates activation of feminizing switch gene Sex -
lethal (sxl).

E. Sex specific expression of sxl causes selective activation of dosage
compensation genes in female Drosophila.

Select the option with combination of all correct statements.

1. A B E
2 A BD
3B, GE
4B, CD

Options :

8024375065. 1
8024375066. 2
8024375067. 3
8024375068. 4

Question Number : 77 Question Id : 8024371267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A. T8 X-T0A IR Higl HuRe! qur ATl iR R FHuRe! & Ud o 4 3urfeid
[CRIEIGIE

B. X:A 3JUTd & 0.66 Hcd dicl Ut S/ e ue qeafeill Uy # faafd shm|

c. e Ryl ufsegr 5 v uRgE @1 SgHIRTd & SR, X0 S/aGaraEg
SH&H R oI [T g

D. X:A 3fUTd &1 3ed Hed HIGIGR® gc- S [eF1-9Tdl (Sex-lethal) (sxi) & Gisgul
&I G Bl 2

E. sxl @1 Teiv1 faf2ree siftroufad Arer sigidror | 5 FeRo ufdsor Sl &
FUMHS Gihau & RS a-1d] g

i gel ®u=l & Ad ad [dded &1 997 B

1. A B E
2 A BD
3B, GE
4B, CD

Options :

8024375065. 1
8024375066. 2
8024375067. 3
8024375068. 4

Question Number : 78 Question Id : 8024371268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements are made about KDEL receptor.

A. KDEL receptor is found in COPI vesicles

B. KDEL receptor affinity for KDEL sequence is high at higher pH

C. KDEL receptor is synthesized on the ER

D. KDEL receptor is present in the ER and Golgi

Identify the option that contains all correct statements about the KDEL receptor.

1. A and B only
2 A B C
3ACD
4. C and D only

Options :

8024375069. 1
8024375070. 2
8024375071. 3
8024375072. 4

Question Number : 78 Question Id : 8024371268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A. KDEL U181 COPI GfeamTsii & Ur Sl & |

B. KDEL Tl &1 KDEL 3FehH & Ufd §=[al 3=dal pH R i@ sl & |
C. KDEL 9781 ER U H=AUd Bl & |

D. KDEL T8I ER TYT Mesil H UK WA & |

KDEL W81 & = H g+ 98! B! ard! famcd ® UgdH 31 |

1. acl A TUTB

2 A B C
3.A,.CD

4 HId C YD

Options :

8024375069. 1
8024375070. 2
8024375071. 3
8024375072. 4

Question Number : 79 Question Id : 8024371269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following figure represents the growth curve of wild type E coli grown in a
medium containing both glucose and lactose.

Bacterial
density



2 4 6 8
Time in h

In E. coli, the catabolite repression of lactose operon by glucose has been
explained by the different levels of cAMP in presence and absence of glucose.
This model was challenged and experiments showed that catabolite repression
occurred because the activity of lactose permease was inhibited in the presence of
glucose. Considering the second model, which one of the following plots correctly
represents the growth pattern of a mutant £ coli with a loss of function mutation
in the lac/ gene growing in a medium containing glucose and lactose?

1.
Bacterial|
density
1 1 1 1
| 1 1 1
2 4 6 8
Timeinh
2.
Bacteriall
3 density
| 1 1 |
1 ] 1 ]
2 4 6 8
Timeinh
3.
Bacterial|
density
3.
1 1
I




Timeinh

4,
Bacterial|
density
4.
N KR e e
2 4 6 8
Time in h
Options :

8024375073. 1
8024375074. 2
8024375075. 3
8024375076. 4

Question Number : 79 Question Id : 8024371269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :



8024375073. 1
8024375074. 2
8024375075. 3
8024375076. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Following statements were made about human mitochondrial genome:

A. The replication of both the H and L strands is unidirectional and begins at
specific origins.

B. Majority of the mitochondrial genes encode for protein  products.

C. Though the mitochondrial genome is extremely compact the genes never show
any sequence overlap.

D. The CR/D-loop region of mitochondrial genome exhibits triple stranded
structure.

E. Transcription of mtDNA starts bi-directionally from a common promoter region
in the CR/D-loop region and continues round the circle.

Which one of the following options contains a combination of all correct

statements?

1.A B D
Z2:A. D E
3B, D E
4B, CD

Options :

8024375077. 1
8024375078. 2
8024375079. 3



8024375080. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4 PR s Tei- o T § 4 Sy 9918 T

A. H TYT L EFT Tould! &l Widddig Thicd® gidl & dul Uh a2y 3eH ®d IR
HRPEATE |

B. 3 YHABUIHY SfiH UIdH 3dG! &1 ded Bl ¢ |

C. TG GBI ol Hcld U9 gldl 8, Wi- &l Hl TeEReuwdl el xiid! g1
D. YEASBIUGEIG ol &1 CR/D-3% &3 FIves® Uia1 a2idi ¢ |

E. miDNA & 3cig- @1 3R CR/D-d5 WaH ¥ U SHAHS 3~1aa e 9
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feifrd @ 11 U [y 9T Tel ol & Ha d Ffd & 2

1.A B D
A D E
3.B.D E
4B,C D

Options :

8024375077. 1
8024375078. 2
8024375079. 3
8024375080. 4

Question Number : 81 Question Id : 8024371271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements were made about the characteristics of cyclin proteins:

A. Synthesis of M-cyclin is dependent on the cyclin mRNA that is newly
transcribed after every cycle.

B. Destruction of M-cyclin toward the end of mitosis is driven by ubiguitin
independent proteolytic system.

C. G1 cyclins can be activated by mitogenic factors.

D. Retinoblastoma (Rb) is a key target of the activated cyclin D — Cdk 4/6 complex.

E. While cyclin A1 expression is ubiquitous, cyclin A2 expression is restricted to
the germ cell lineages.

Which one of the following options contains a combination of all correct

statements?

1.A B D
2:8,C E
3B, D E
4 A CD

Options :

8024375081. 1
8024375082. 2
8024375083. 3
8024375084. 4

Question Number : 81 Question Id : 8024371271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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C. G1 WiEfdaH! o1 Gfshgur G- dR$I 4 5] Iodl el

D. YfeAsaE AT (Rb) Gfdh WEGAT D - Cdk 4/6 THY D1 UH U@ aed aidl o |
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Feifed aH 9T uF Aoy gy el Al s a4 Hffa e

1.A B D
2:8,C E
3B, D E
4 A CD

Options :

8024375081. 1
8024375082. 2
8024375083. 3
8024375084. 4

Question Number : 82 Question Id : 8024371272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements were made about catalytic introns:

A. Group | introns may undergo self-splicing by transesterification.

B. Group |l introns do not require any factor/protein for autosplicing either in vivo
or in vitro

C. Certain introns of both the group | and |l classes may contain open reading
frames which are translated into protein.

D. Generally, group | introns migrate by DNA-mediated mechanisms, whereas
group |l introns migrate by RNA- mediated mechanisms.

E. Ribonuclease P (RNase P) is essential for bacteria and archaea but not
eukaryotes,

Which one of the following combinations represents statements which are all

correct?

1.A B D
2BDE
3.A,.CD
4CDE

Options :

8024375085. 1
8024375086. 2
8024375087. 3
8024375088. 4

Question Number : 82 Question Id : 8024371272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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2 &1 RHRRY RNA-TERY URPaT gRI AT S |
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g Rare! & e =g |

feifted ®1F O U ad i TEl Syl o GRidT 8 2

1.A B D
2BDE
3.A,.CD
4CDE

Options :

8024375085. 1
8024375086. 2
8024375087. 3
8024375088. 4

Question Number : 83 Question Id : 8024371273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A protein found in the golgi compartment was found to be degraded rapidly at
mitosis. Golgi extracts (isolated from Gq and M phase cells treated with
deubiqutination inhibitors) were treated with glycosidase and western blots done
using antibodies against the protein. The following pattern was obtained.

Marker G, |
- Bly + gly - gly +gly
e | —
= =
3| = — =
=
30 | —

Identify the statement that CANNOT be made based on the data.

1. The protein is glycosylated in Gy and M-phase

2. The protein is glycosylated and ubiguitinated in M-phase

3. The protein is ubiquitinated but not glycosylated in M-phase
4. The protein is not ubiquitinated in Gy

Options :

8024375089. 1
8024375090. 2
8024375091. 3
8024375092. 4

Question Number : 83 Question Id : 8024371273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



icoll @& H U ol ard U YIS &1 GaE! faueH & 959 digal 9 faufed sid
g 1 | el e FregfswgAe Jeael ¥ SuhilRd 6y aul MoHaR
DI I JudHd 6dl gof) & TeoRs d 3Udikd &id UdH & deG
icReal ¥ 9% sare g a7 | F=ifed iRy ure gl

Pdarker G, M

- Bly + Bly - Bly + Ely
[ —

e

75 | — = =
— _

—

30 | —

FYT BT UgaH B ol fh IWIad s & MYR U T8t 18] 9 Ghdl 6 |

1. Gy YT M-3a®1 § Ui T iadiad & |

2. M-3a1 § WIEH s difciiad au gfesdafRed g

3. M-3RI | UITH gl Hdd & R TWediidciged Jel ¢ |
4. Gy H UIeH glaagieFed T8l & |

Options :

8024375089. 1
8024375090. 2
8024375091. 3
8024375092. 4

Question Number : 84 Question Id : 8024371274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements were made about regulation of eukaryotic gene expression.

A. It is usually regulated at the level of initiation of transcription by altering the
chromatin architecture.

B. The eukaryotic genome is divided into domains by insulator elements.

C. A chromatin remodeling complex binds to the promoter of a gene in sequence
specific manner.

D. Architectural proteins regulate gene expression by promoting DNA bending.

E. The chromatin remodeling complex can alter nucleosomal architecture, but
cannot displace them.

The option with all the correct statements is

1.A B D
2ZACE
3B, D E
4B, CD

Options :

8024375093. 1
8024375094. 2
8024375095. 3
8024375096. 4

Question Number : 84 Question Id : 8024371274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



goialfes oF et © Foaa & ooy 3 A sy aam )

A. HIERUIGA] U8 $HiHICH ® §41a2 & gaald & GRI Saa- B URIEHD TR 1R
frafasa el

. R Tof i ol SR waT R 2R 8

C. U iafe Hideyu Iy U o & 3-10d 4 HJHH [Afre goreh 9 dedr
el

D. TRGA1 Haltd UidH DNA TRIS & Tfad e o Hf¥eafdd & g0 axd
el

E. shiafeA ufaeyur dffy ~gfdaaias ©f @31 § uRadd o ¥ad o, U] S
famfd 8f @2 g@d |

gt Iet Sy araT faded & -

1.A B D
2ZACE
3B, D E
4B, CD

Options :

8024375093. 1
8024375094. 2
8024375095. 3
8024375096. 4

Question Number : 85 Question Id : 8024371275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Contents in Column | and Il are with respect to bacterial transcriptional regulation.

Column | Column li

i. Positive regulation by cAMP|a. Ara operon

il. Short abortive transcripts  |b.Lac operon

iii. DNA looping c.Riboswitch

iv. FMN synthesis d.Transcription initiation

Which one of the options below correctly matches contents in Column | with Column II7

10— (k) (i) —(d): (i) —(a); (iv)—(c)
2. ()= (¢ (ii) = (b); (iit)— (a): (W) —{(d)
3. () —(b); ()= (a) (in—(d) (iv)-(9)
4. (i) (d); (i) — (o) (i) - (b); (iv) - (a)
Options :

8024375097. 1

8024375098. 2

8024375099. 3
8024375100. 4

Question Number : 85 Question Id : 8024371275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



ICH | TUT || BT [a9g g% sianuddm sea- g Haad & GaH 7 § |

GARER HIeg I
(i) |cAMP ERI 9B RIES HaHd (@) |Ara UdTCid
iy [org e ufded (b) |Lac TETCI®
(i) |[DNA @ (c) [UEsiRag
(iv) |[FMN SZcigor (d) |HTdEd R
Fifed @F O us fadey @iod | 0yl 1| & fa9g o] o Geidhal § gHicd &al
87
1) —(b) (i)—(d); (i) —(a) (iv)—(c)
2. ()= () (i) —(b); (i) - (a); (iv)—(d)
3. ()= (b)Y (i) — (&) (i) —(d); (iv)—(c)
4. ()= (d); (i) —(c) (in)—(b) (iv)-(a)
Options :

8024375097. 1
8024375098. 2
8024375099. 3
8024375100. 4

Question Number : 86 Question Id : 8024371276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1




Which one of the following statements about eukaryotic RNA processing is
INCORRECT?

1. Termination of transcription occurs co-transcriptionally at the polyadenylation
site.

2. Phosphorylation of the Ser 2 of the RNA polymerase Il CTD is required for the
recruitment of polyadenylation factors.

3. Polyadenylation requires both cleavage at the polyadeny-lation site and
addition of poly A.

4. Xm 2 is the nuclease that degrades the cleaved RNA to release RNA
polymerase Il from the template.

Options :

8024375101. 1
8024375102. 2
8024375103. 3
8024375104. 4

Question Number : 86 Question Id : 8024371276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Th Lgiied RNA UHHY & GGH H B 91 Uh Y TTad o7

1. SfjoiaH &1 Y19 SgUsHo ®d IR He-ae-aal 4 sidi |

2. RNA UIGHERS (| CTD & Ser 2 @] HIEHIRCHRY dgUs Hidmitl HR®| &
AR & AU 3a%y® g

3. SgUSHa®HU & fou agleMieimey ®id W fdga aul a8 A (poly A) @1 GR
& B HTaRGHdl 8id] ol

4. Xrn 2 98 g0 © o b 9id 9 RNA TTEAR 1| & FHaRu & o fagied RNA
ol fqafed ol o

Options :

8024375101. 1
8024375102. 2
8024375103. 3
8024375104. 4

Question Number : 87 Question Id : 8024371277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The following statements are made with reference to the fact that tRNAs are
known to possess T in their sequence.

A. RNA polymerase Ill utilizes TTP as one of the substrates.

B. Like any other RNA polymerase, RNA polymerase |ll also utilizes rUTP but when
the RNA pol Ill reaches a looped structure it binds to S-adenosylmethionine to
methylate C-5 position of the incorporated U to result in a thymine in a
co- transcriptional manner.

C. During transcription of tRNA genes at the designated positions, DNA

polymerase replaces RNA polymerase Il to incorporate T in the tRNA
transcript
D. A specific methyltransferase utilizes a methyl group donor to post-

transcriptionally modify the specific U residues into T residues.
E. Uracil to thymine conversion occurs in a large number of tRNAs in the TWC
loop.

The option with all the correct statements is

1. A and B only
2. B and C only
3. Cand E only
4. D'and E only

Options :

8024375105. 1
8024375106. 2
8024375107. 3
8024375108. 4



Question Number : 87 Question Id : 8024371277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ifard YAl ®l 39 720 & G4 ¥ 191 741 [ tRNAs I 304 HTHH H T Bl
GHIEd fPT g S S § |

A. RNA UTETHIS 111 TTP &I U diiged & ¥4 H Udi § Al ¢ |

B. {54l GO RNA UIKTHS & ST, RNA TIRHESS (11 9 AUTP &1 SUTNT &3dl &
U= a4 919 RNA pol 1l Td 9aBIcR g-1ae &1 Uil © ofdl &, I8 JHIa% U &
C-5 ¥F &I ATEEd H3 & fou s-Ufe=Raaiigi=g 4 9udr g, uRumasy
Te-30E- Usa 9 wisfie B niawid s e |

C. e Jal W tRNA SiHT @ 3cREA SR, tRNA Hideid 5 7! JH1ied ®id
@ [o7 DNA UTRIHES RNA UIRIHEE 11| &I Jiawiftd sdi s |

D. U5 a2y HYISeieigqmb ol Hcia- URdrd (928 U 3g4dl &l T 3fagaf § glafda
- o [T U HiYel JHE Tidl &1 IYIRT Bl ol

E. TWC % T tRNAs & ifder g% § g &1 ursfiq o YuRad- gidl

off el Syl ¥ god fase &

1. Haq A TUTB
2. HaARAUTC
3. Haa CauTE
A HIADJUTE

Options :

8024375105. 1
8024375106. 2
8024375107. 3
8024375108. 4

Question Number : 88 Question Id : 8024371278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Leishmania major, the causative protozoan parasite of cutaneous leishmaniasis,
resides and multiplies within the phagosomes of macrophages. Resistance to the
infection correlates very well with the development of a Th1 response. In order to



prove this hypothesis, three groups of BALB/c mice were taken: control group,
IFNy ) group and IL-4 ¥} group. All the groups were infected with L. mgjor and
then parasite load was measured in each group after 4 weeks. Which one of the
following results will justify the experimental outcome confirming the hypothesis?

L

Parasite
1. load

Control [Nyt IL-4tH)

Parasite
2. |oad

Control  IFNYFF  IL-4)

Parasite T

3 lnad



- e

Control  IFNyH  IL-4¢H

Parasite
4. |oad

]

Control  IFNYH  IL-4A

Options :

8024375109. 1
8024375110. 2
8024375111. 3
8024375112. 4

Question Number : 88 Question Id : 8024371278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT HE {Leishmania major), Tl TrEmRmiY sRvEES U&= 9iEd)
ggd P & HIEHE! # 99 &1 § aul d9-3f S § | WHHU iy
U Th1 501 U 95d 3w o7 § UgHaltd gid1 8 | 39 HaUR o] g & &
folu BALB/c ?ﬁﬂﬂ oI | o 7T SIS (control) THE, IFNy & THE T
IL-4 ) Tg | Y OBl B L major T Yebftra favar a1 aun 57 4 OwE & uzan
Td® g H Weidl YR &1 3F & | e $15 @ ve aRom sEsron
@t ufF wea /U Tt et &t wfua fos s



Parasite
1. load

1]

Control  IFNy/  IL-4H

Parasite
2. load

Control ~ [FNyt!)  JL4¢F

Parasite
3 oad




Control  [FNyH")  IL-4C

Parasite
4. load

1

Control  IFNyH  IL-4tH

Options :

8024375109. 1
8024375110. 2
8024375111. 3
8024375112. 4

Question Number : 89 Question Id : 8024371279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Receptor tyrosine kinases (RTKs) form a large and important class of cell surface
receptors whose ligands are soluble or membrane bound protein or peptide
hormones. Which of the following statement is INCORRECT?

1. All RTKs are transmembrane proteins with extracellular ligand-binding site and
a cytosolic domain.

2. Binding of ligand causes most RTKs to dimerize

3. Cytosclic tyrosine kinase phosphorylates a distinct set of tyrosine residues in
the cytosolic domain of the dimer,

4. Adapter proteins and enzymes involved in signalling pathways bind to different
phosphotyrosine residues via a conserved polypeptide domain called SH2
domain.

Options :

8024375113. 1
8024375114.2
8024375115.3
8024375116. 4

Question Number : 89 Question Id : 8024371279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



TTE] SR BIgiof (RTKs) BITreh] Fele Fiiedl &1 Ueh faie ud Heaqul o
41 & forgds Herw| goRiTa 41 fRiecd Siae UidH 91 Uwiss s o | Feifea
©IF 91 HUH TTAd o7

1. 94 RTKs BIRGEE Sa1-94 [T 741 U6 SIU@dod UaE & 91y
URfEe UidiH gl

2. TSI RTKs T I & G1Y AERA 390 [gad & HRE a4 o

3. DIHIGT eI DIe-d faad & DiR@rgadl uad ¥ s 3a9d &
Uah fafree g & BRBIRGd $dl & |

4, TSI U auT ToigH o s Haed gl & i & Ue Oxféd Uiuess e
fo18 SH2 U8 ®ed &, & gRI Al BReIeEIRE sagdl 4 gvd 2

Options :

8024375113. 1
8024375114. 2
8024375115.3
8024375116. 4

Question Number : 90 Question Id : 8024371280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The following statements are made with reference to characteristics of
glycosaminoglycans and proteoglycans, which are major constituents of
extracellular matrix. Which one of them is INCORRECT?

1. Glycosaminoglycans are very long polysaccharide chains composed of
repeating disaccharide units of an amino sugar  and a uronic acid.

2. Except for hyaluronic acid, all glycosaminoglycans are covalently attached to
protein as proteoglycans.

3. Glycoproteins contain less carbohydrate usually in the form of relatively short,
branched oligosaccharide chains whereas proteoglycans contain more
carbohydrate in the form of long unbranched glycosaminoglycan chains.

4 Like O-linked and N-linked glycoproteins, in proteoglycan also
glycosaminoglycans are linked to serine or threonine and asparagine residues.

Options :

8024375117. 1
8024375118. 2
8024375119. 3
8024375120. 4

Question Number : 90 Question Id : 8024371280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1, TESHIAIHTAE S Ut THT D] oyl U THAT 3 & fadl SRabiss
gem! @1 Jfd 41" TraeRigs Y8 ¢ |

2. BRI ® 3 & Sffalad, O aRe aardgd- Ul Saraga-l & ol
TEUael T U A Sl gidl & |

3. TS @I # GIURUGH] SUETdha Bic, Mad HRTRSSs Yadae & 4
H &H Blaiglasc old & Sgid Wicardrsd- H o &
AR @IS SEars & w0 H ANE deekac eid 6 |

4, O-3MTaG 4] N-3aG Tas@Hieq! odl, Hifcarargd- 5 of
TSGR b AR Syar iR qur TR 3agdl A 9S e B

Options :

8024375117. 1
8024375118. 2
8024375119.3
8024375120. 4

Question Number : 91 Question Id : 8024371281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Prostate cancer cells were treated with Drug A and Drug B in order to check the
efficacy of the drugs in arresting the growth of cells. The following results were

obtained:
Drug A DrugB
Level of T Leve| of T
eXpression axpression
1 — —
® ; 4 ® A
a5° 2 et O e? ot 0
atﬂﬂ ﬁtﬂ'ﬁgﬂ&t Ib‘,,:‘,}"i- {.‘iﬁw‘ ﬂm‘*?a 351;@5 o *0;.{\
o (.“‘-a\ﬁ et {3@‘&

Which one of the following statements is NOT correct?

1. Drug A targets the Wnt signaling pathway but does not lead to death of cells.
2. Drug B targets the Wnt signaling pathway and leads to G4 cell cycle arrest.

3. Both drugs A and B lead to cell death but targets different apoptotic pathways.
4. Drug A kills cells via the mitochondrial- independent pathway.

Options :

8024375121. 1
8024375122.2
8024375123. 3
8024375124. 4

Question Number : 91 Question Id : 8024371281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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fifthd ®F 91 UF &y 9ol el & 7
1. TSI A Wit Seha UY B TG DRl & U= DIADIS D HY B PR Fol
aal |
2. Y B Wnt Hoba OY & A1ed Bl & a4l G DD 9% & THAC B DRD
adi 8l
3. Gl SNl A TUT B DIRG] 5 B RS a4dl & U= JH] HIiI] Jg Ul
@I TIET B o

4. 3T A DIABIH DI GABUB-TEIHH U4 & GRI BIAD131 BT 94 Bl o

Options :

8024375121. 1
8024375122.2
8024375123. 3
8024375124. 4

Question Number : 92 Question Id : 8024371282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A transgenic mouse was generated for both heavy and light chain specific for
MHC molecule H-2K™ so that all the B cells in this mouse therefore had BCRs
specific only for H-2K™ ‘and made only anti- H-2K™ specific antibodies. By
appropriate breeding, the H-2K™ specific immunoglobulin transgene was
introduced into mice bearing different MHC genotypes H-2K" and H-2K™", With
respect to selection of B-cells within the bone marrow of H-2K" and H-2K™" mice,
which of the following statements is carrect?

1. In H-2K" mice, the transgenic antibodies will not be detected on the surface of
any of the B cells

2. In H-2K™" mice, the transgenic antibodies will not be detected on the surface
of any of the B cells.

3. In H-2K" mice, the transgenic antibodies will be detected on the surface of
some of the B cells but not released in the serum.

4, In H-2K™" mice, the transgenic antibodies will be detected on the surface of
some of the B cells.

Options :

80243751251
8024375126.2
8024375127.3
8024375128. 4

Question Number : 92 Question Id : 8024371282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



MHC 3] H-2k™ & o f9RIfd = aul oY y@a aFi & ol U URei-! 9gl
41 741 ford b 54 gg & 9l B SIRE1aM § dhad H-2«™ o fore fa=ifd BCRs
& YT Pad Uld H-2k™ Tafree giRaial a9l 81 IUgad U & gRI, H-2K™
fafare gfoRamalsgicH IR ®f U 3fefT MHC SIHURT H-2K" a4l H-2K™"
a1l gg § UdR ST | H-2K" TUT H-2K™" gl & Y Aol H B- Sifdra|
& 90 & 9aH H, il ®F 91 HYF Fel 6 7

1. H-2K" gef H, Tl o B SIR®18 & 7% TR TR WioRaidl @ 99a- el
BRI

2. H-2k™n gl |, faodt Wt B SIR@re & U6 R Woi-] GioRandl ol ga "ol
BRI

3. H-2K" ol H, TS b BISHI31 &7 U566 TR URwH! UiaRaidl & 99a- sl 0ig
URH o gad T8l g

4. H-2k™"gel H, T B HIRIDIS] & I8 TR UReiH! UioRaidl &1 9 el

Options :

80243751251
8024375126.2
8024375127. 3
8024375128. 4

Question Number : 93 Question Id : 8024371283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following diagram displays the MHC haplotype of a heterozygous H-2%9 mouse:

Maternal KK Ak Br.c Eak Bk Dk Lk
MHC

Paternal

d
e | K¢|  Aadpd| Ealpe| DI| L

How many types of MHC molecules will be expressed on activated macrophage
(M) and a normal fibroblast (NF)?

1. Mg 8 ; NF 14
2. M@ 4;NF 6
3. Mg 14; NF 14
4 M 14; NF 8

Options :

8024375129. 1
8024375130. 2
8024375131. 3
8024375132. 4

Question Number : 93 Question Id : 8024371283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



i 3t fauagasl H-244 g8 & MHC gwlelgy (SAIfUId UEy) a=iidl &

Maternal KK Ak Br.c Eak Bk Dk Lk
MHC
Paternal d
v | K¢ Aadpe Eadpd | D9 | Ld

AT JEdHEBHITIST (Me) TUT U T Wy (NF) TR fad UHR & MHC
Hupafi Bt Sifreafad B8R 2

1. Mg 8 ; NF 14
2. M@ 4;NF 6
3. Mg 14; NF 14
4 M 14; NF 8

Options :

8024375129. 1
8024375130. 2
8024375131. 3
8024375132. 4

Question Number : 94 Question Id : 8024371284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In C. elegans the SKN-1 protein controls the fate of the EMS blastomere which
generates the posterior pharynx. With reference to the above which one of the
fellowing statements is INCORRECT?

1. The MS blastomere is able to generate pharyngeal tissue even in isolation.

2. Embryos from skn-1 (skin excess) deficient mothers lack both pharyngeal
mesoderm and endoderm derivatives of EMS

3. Embryos which are skn-7 null mutants will always make extra hypodermal (skin)
and body wall tissue.

4. SKN-1 activates MED transcription factors whose level of activity controls the
fate of EMS lineage

Options :

8024375133. 1
8024375134.2
8024375135.3
8024375136. 4

Question Number : 94 Question Id : 8024371284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



C. elegans (1. TiF-E) H SKN-1 UIEH EMS DREES & gl &1 530 odl &
5l for U= g8=t &1 A1 Sdl o | SURIE & TaH | Heiidd b 9 U BUT
Ted 7

1. MS DREGE E gl J Ot 791 S| &1 A 3 9Fdl & |

2. skn-1 (¥ fca) 3ol 7719 T IG YOI § EMs & SgaATaal Fa-] Hee-R
TY1 i Gl @1 A sidl o

3. YUl S 5 skn-1 0 SANGd! &, 9ad Hiadd AUTadig (IH) 991 &g Wi 3db
Tl 8l

4. SKN-1 MED 3f-cie &R &I Hishd Bl o forgd [hamiical & &R EMS
JEga & Haid & Hafad sl o

Options :

8024375133. 1
8024375134.2
8024375135. 3
8024375136. 4

Question Number : 95 Question Id : 8024371285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Maternal effect genes are extremely important in establishing the anterior — posterior
polarity of the Drosophifa embryo. Mutant phenotypes arise when genes of this family
are mutated. The following table enlists genes and phenctypes observed on mutation of
these genes but not correctly matched.

Gene |Mutant Phenotype

A. Torso |i. No abdomen, no pole cells

B. Vasa |ii.Defective oogenesis

(. Oskar liii. Head and thorax deleted

D. Bicoid|iv.No termini

Which one of the following combinations is correctly matched ?

T.A-i,B-i C-iii, D-iv
2ZA-i,B-ii,C-iv,D-ii
3.A-iv,B-1,C-i,D-iii
4 A-i0ii,B-iv,C-ii,D-i

Options :

8024375137. 1
8024375138. 2
8024375139.3
8024375140. 4

Question Number : 95 Question Id : 8024371285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Hlg DS S Sl YUl & HY-ULd Yadl & 0= & 00 3 HedqU]
& | 39 GHg & oiFl I SdRaiad 3 d 3diNadl aauiEy U Bid § | HE
URUT 3 Sl  IdRd U=dld Ugdiad iy 71U T&UHReY aul Sil o1 gl 96

$d g U Yol HH T8I © |

G| QARadl A&UEY
A. 21} (Torso ) L R UG, yd DIReT HuRT
B. @17 (Vasa) i, ARyl HSeA
C. 37 (Oskar) iii. R oy 94 fAafag
D. /§5aIUE (Bicoid) iv. 3{dd IURUd
FoAifed ®F 91 e 99=9g gafad & 2

T.A-ii,B-i C-iii, D-iv
2.A-i,B-iii, C-iv, D-ii
3.A-iv,B-ii,C-i, D -iii
4. A-ii,B-iv, C-ii, D-i
Options :

8024375137. 1
8024375138. 2

8024375139. 3
8024375140. 4

Question Number : 96 Question Id : 8024371286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The hedgehog pathway is extremely important in vertebrate limb development,
neural differentiation and facial morpho-genesis. In accordance with the above
statement, what would happen in mice that are homozygous for a mutant allele of
sonic hedgehog (shh)?

1. Limbs would form normally but the mice would have facial abnormalities.

2. Midline of the face would be reduced and a single eye would form in the
center of the forehead.

3. Eyes would form normally but digits would be malformed.

4. Mutations of shh may activate tumor formation if Patched protein can inhibit
the Smoothened protein,

Options :

8024375141. 1
8024375142. 2
8024375143. 3
8024375144. 4

Question Number : 96 Question Id : 8024371286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SoleNT 9y ®ERED] H UIG [, Al [ aul des & aHl faer™ &
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IAREdT fael Fie 89617 (shh) B [0 GGG &7

1. UTG] &1 GG T84 81 U g H 6L &1 SRariaddl sril|

2. e DI gL Bl gl Sl qul & ure & 99 Uh Udha -4 [adiad gl |

3. 531 BT I 139 SR U ST HEaiaes gl

4 shh H ITRadT 3Ee FHI0 &I TiPY FX GHal & 416 Jos (Patched) HIEH
Fﬂﬁ%’ﬁmc}othened]mﬁ:{ﬁ-ﬁﬁﬁﬁ% |

Options :



8024375141. 1
8024375142. 2
8024375143.3
8024375144. 4

Question Number : 97 Question Id : 8024371287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Xenopus, the Noggin protein, accomplishes two major functions of the

organizer: it induces dorsal ectoderm to form neural tissues, and it dorsalizes

mesoderm cells. Which one of the following cbservations is correct with respect

to Noggin?

1. If a plasmid clone expressing Noggin protein is microinjected into a lithium
chloride treated Xenopus gastrula, it should rescue the abnormalities induced
by lithium chloride treatment.

2. If a plasmid clone expressing Noggin protein is microinjected into UV-treated
embryo which does not give rise to neural tube, it will rescue the abnormality.

3. RNA in situ hybridization of noggin cDNA on Xenopus embryo will show its
presence in all regions except the dorsal blastopore lip.

4. Microinjection of noggin mRNA into the embryo region fated to make the
ventral part will promote its ventralization.

Options :

8024375145. 1
8024375146.2
8024375147. 3
8024375148. 4

Question Number : 97 Question Id : 8024371287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



W[Xennpus}ﬁ:ﬁﬁﬂ(NDggiH}WW%@ﬂH@mﬁﬁm]ﬁﬂ
T & U8 UK dieoheR & dadl $Hd® §IH & O URkd $d & aUl T8
AEHER DI@e B U8IG &91d §| ARH & 94 § FEifed ®F 91 16
3rgaicn Hel o7

1. 41¢ U iR Ui &1 ifioqad o 16 Ueod daiH @i [al9gH &iRigs 39aid
TGRSl H geaeid: &9 fgl 5, o gEel A Fikigs 3UaR URd
famaaradi g fAeaid &1 91fet |

2. TiE U FiH UidH @i Sl oiad ®Y Ugod ol ®l Uv- SUdTRd o1 H gasia:
& o o forad 3@ el 9al &9l & df 9 auddel 9 FHeaid & |

3. F79d YO TR A cDNA BT RNA TR (in-sit)  BRISSBUNA 39d
gufeufa &1 gl uarE! § cRiie Ram si-ad-axl SRl & |

4, A mRNA T YOI & 37ER Y7 89 & 00 MG &7 § gersid: &u0 5o
SYNTRU @ UETed &7 |

Options :

8024375145. 1
8024375146. 2
8024375147. 3
8024375148. 4

Question Number : 98 Question Id : 8024371288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Antennapedia protein expresses in the thoracic segment of the fly and not in the
head region. However, a dominant mutation of Antennapedia replaces antenna
with leg-like structure,

The following statements were made with reference to Antennapedia;

A. In a dominant Antennapedia mutant, the Antennapedia gene is expressed in the
head as well as in thorax.

B. In the Antennapedia mutants, the Antennapedia gene is expressed in head
region only and thus promotes leg-like structure in head socket

C. In addition to promoting thoracic structures, Antennapedia protein binds to
and represses the enhancer of homothorax and some other genes responsible for
antenna specification.

D. Antennapedia has no role in thoracic region specification and thus recessive
Antennapedia mutants show no phenotypic effect.

Which one of the following options represents correct statement(s)?

1. A only
2. AandC
3.Band D
4. B only

Options :

8024375149. 1
8024375150. 2
8024375151. 3
8024375152. 4

Question Number : 98 Question Id : 8024371288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

UfATiTEaT UIdiH Bomad! or 94T Te o Sfiedad gidl © oyl R uaE o =g
SIAT| I G2 779is 9Tl Udh WHIE! S 4 &1 I 9 W91 3 uiadd
®Xd o | UeTifear & deH § e @y 99 T

A, U YHIEl O7riiegr3aiad |, gierdiisarei- R aur gy gl e o
A EId B |

B. Ofeidfegraaiialddl # ofoardiiearei- dad RR & &5 § & ofijegad sid &
I 39 YR R TMideT § 3 923 U= @1 Widifed &d o

C. 3T A1 @ Ukdiied $34 & ffaRad, Oordearaid= saiay gyl
D% ARSI < b gitieT & IRPH0 & [y Iaierdl 8, 97d dgficdRa o
Sl & TYUT G Bl B

D. 3&f veE & fafdifpawur & vfeardifear &1 &% yfieT 78 § Ty ST syt
gieTrifsarsanad @i W aemed gyiE A8 e2ifd £

ifeed & 91 U [ddhed Gl oy=/HYA &l g2idl 87

1. Fad A
2 ATYUIC

3. B3YID
4 HIAB

Options :

8024375149. 1
8024375150. 2
8024375151. 3
8024375152. 4

Question Number : 99 Question Id : 8024371289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The development of anthers and male gametophytes is highly conserved among
angiosperms. Following are some of the events associated with pollen
development, in random order.

{a) Microsporogenesis in pollen sac to produce a tetrad.
(b) Asymmetric division forming immature pollen grain.

r

{c) Archespore division.

(d) Division of generative cell to form two sperm cells.

(e) Callase digestion to form free microsperes.

Which of the following option represent the correct series of events during pollen
development?

1@, (b), (a ) (e
2. (a) (e) (b)) (d
3. (g (d) (b) (e
4.(c) (e (@ (b) (@

Options :

8024375153. 1
8024375154.2
8024375155. 3
8024375156. 4

Question Number : 99 Question Id : 8024371289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Hgaareidl § WATHRIT 791 R GHDIRaal ©f Ga Jaide WRiEd 51 Fifhd
DS Yol IRATHY & [dME & 99 | ¢, FuHa e H |

(2) W ¥ Tqsed & FHT0 & o aydiereEA |

(b) 3GRUTE TF & & o8 T [GUSH |

(c) 31 e |

(d) &I T BIRDI3 B 11 & T8 IAGH HIRAD] BT [GHSH |

(e) T Tt &l 841 & e dBas g |

FAeifard & 91 fd@cy @y [Aeg & aRiH & geq1si ©f el w9 § fead a7
1.(@), (b) (c (d) (e

2.(0, (a), (), (b), (d)

3.(a8, (c (d) (b) (e

4.(c) (e) (a), (b), (d)

Options :

8024375153. 1
8024375154. 2
8024375155.3
8024375156. 4

Question Number : 100 Question Id : 8024371290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following are certain statements regarding C; C3 Cs and CAM carbon

metabelism in plants.

A. In C3 cycle, one molecule of 3-phosphoglycerate formed during carboxylation
phase is utilized for the biosynthesis of sugars, fatty acid and amino acids

B. During C; cycle glycine is transported from peroxisome to mitochondria and
glycerate is transported from peroxisome to chloroplast

C. The concentration of COz in bundle sheath of C4 plants is several fold lower
than the external atmosphere

D. The stomata of CAM plants open at night

Which one of the following combination of statements is correct?

1. Aand B
2. BandC
3.AandD
4 BandD

Options :

80243751571
8024375158.2
8024375159. 3
8024375160. 4

Question Number : 100 Question Id : 8024371290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Fifed o Sy G1al 7 ¢, €3, 4 TUT CAM BT SUTg b HeH H 8 |

A. C: 9 H, Pralgdad & GRM 84 gU 3-BIREDIcHIe &1 Uh U] Jheled, a9
¥ YT HHHT o & SlgHRayor H Ugdd gl ol & |

B. C, U & GRIM Tz dlH &l RHFRU WRATHITHE § PFafiel  H qul FemRke
P YR RaEEaH S sRaaas S eidl g |

C. C, UlHl & Ueirese H CO, B Uiadl §Tesl adiayl § &g A1 &H Bl 6 |
D. CAM Tigf &t 38 A H Gelf gl 8 |
HUAl @1 (Eifhd B 91 TP 50 981 8 7

1. AdUIB
2 BdUlC
3.ACYID
4 BdUID

Options :

80243751571
8024375158. 2
8024375159.3
8024375160. 4

Question Number : 101 Question Id : 8024371291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following is the list of cellular responses of root hair to bacterial Nod factor and
timing of their induction, which may or may not be matched.

Response Timing

A. Membrane potential depolarization . within 1 min

B. Ca®* spiking in and around root hair cell nucleus Il. within 10 min

C. Root hair growth perturbation, pause in growth, lll. over a period of
curling hours

Which one of the following is the correct match ?

TA-i,B-ii,C-ii
2 A-i,B-i,C-ii
3A-iL,B-1,C-i

4 A-,B-wm,C-1
Options :
8024375161. 1
8024375162. 2

8024375163. 3
8024375164. 4

Question Number : 101 Question Id : 8024371291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



F=ifcrd Tl 5o aEl ®1 Sialiiad Nod R ® (o8 DIRIGE Hidfshar aul 39
Wdci el ol GRIidl 8, ol GHieid 81 AT sl Yl &l ¥dd o |

PIGIER GHY-TD

A (STl fava fayam L1 min® 3R
B [Hd A DIl dsd § aUl IRI R Ca2* i |10 min & 3R

T
c |gaaH ofs wafawy, ofs o favm, a4 i, [Hel o saf o
faifaed 19 91 UE Ugl 0d 27
1. A-i, B-ii, C-iii
2. A-ii,B-i,C-iii
3. A-iii, B-i, C-ii
A, A-i, B-iii, C-ii
Options :

8024375161. 1
8024375162. 2
8024375163. 3
8024375164. 4

Question Number : 102 Question Id : 8024371292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Plant growth hormone receptors, namely TIR1, GID1, COI1 and PYL1 were
knocked out independently in Arabidopsis plant. The resultant plants are named
as tirl, gid1, coil and pyl1. Which one of the following statements regarding the
above Arabidopsis plants is correct?

1. tir7 is defective in ABA signaling while coi7 in gibberelline signaling
2. gid1 is defective in auxin signaling while pyt1 in JA signaling

3. coi1 is defective in JA signaling while pyl1 in ABA signaling

4. tir7 is defective in gibberellin signaling while gid7 in auxin signaling

Options :

8024375165. 1
8024375166. 2
8024375167. 3
8024375168. 4

Question Number : 102 Question Id : 8024371292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Uey dfe g Wiegl, 9 fé TIR1, GID1, COM dYl PYL1 &I OoIasiiEs
(Arabidopsis) U169 H a4 4 Y FRIY fosar man | 9ol 9isll &1 tir 1, gid1, coil
and pyl1 o191 AHied a1 74T | IWRIad esiwy didf & gy d e
®IH U1 Ush By Tg 87

1. tir] ABA oba § Afql & 9al® coi7 sl ddbad |

2. gid1 HITFTH oo © Ffequl 8 wafds pyt7 JA Gda 4 |
3. coi1 JA Gbad H Ffeyul & oafd pyl1 ABA oA T |

4, tir1 Toeife Ydba © Afquf & 9ald gid 1 SHifeas ha- o |

Options :



8024375165. 1
8024375166. 2
8024375167. 3
8024375168. 4

Question Number : 103 Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Followings are certain statements regarding phytochrome-mediated signal
transduction in Arabidopsis:

A. phyA and phyD are photo-stable, while phyB, phyC and phyE are photo-labile.

B. Prolonged light exposure and the conversion of PpA to PppA cause phyA
concentration to drop.

C. Exposure of light and conversion of Py to Prg cause movement of
phytochromes from the cytosol into the nucleus.

D. phyB lacks nuclear localization sequence and depends on transporter protein
for nuclear import.

Which one of the combinations of above statements is correct?

1. Aand B
2. Aand C
3.AandD
4 Band C

Options :

8024375169. 1
8024375170. 2
8024375171.3
8024375172. 4

Question Number : 103 Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Fifdd % BUH TSI (Arabidopsis) TTel 7 TIGUaU@-HE® Yovd QRITEA

o e I &

A. phyA TUT phyD UBTRI-Ge6 8, Aalth phyB, phyC 04l phyE JHR-HRR 2 |

B. GIHIE HehTRI S=aRUT YT PrA Tl PrpA H FUIARU phyA FI5dl & UdH &l
PRI |

C. USHTR ST TYT Py @1 Prg H T UIRUI & HRU UIGUaU @l &1 BiRienaed
U dee H AR edl § |

D. phyB & 5@ S G®H0 3IHH & 34 8ldl & aul h5d H 3141d & g
giae® UicH I HIR B 8 |

FURIGd B B B 91 TS Hd Jol & ?

1. AdUIB
2 AdYUIC
3.ACYID
4 BdUIC

Options :

8024375169. 1
8024375170. 2
8024375171. 3
8024375172. 4

Question Number : 104 Question Id : 8024371294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The gene encoding for mevalonate-3-kinase is disrupted in a certain plant. Which
one of the following statements concerning the above plant is correct?

1. Mevalonic acid 3, 5-biphosphate will be synthesized, while there will be no
synthesis of Mevalonic acid 5-phosphate.

2. Mevalonic acid 3, 5-biphosphate and Isopentenyl  diphosphate will be
synthesized.

3. There will be no synthesis of Mevalonic acid 3, 5-biphosphate but Mevalonic
acid will be synthesized.

4. Acetoacetyle-coA and Mevalonic acid will not be synthesized.

Options :

8024375173. 1
8024375174.2
8024375175.3
8024375176. 4

Question Number : 104 Question Id : 8024371294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oS Ul J HalHe -3-B1e-9 ] e B did Wi gidd eid & | SWiad didf &
Yeu o FAeifard &H 91 0% &Y 981 87

1, HATA® 3 3, 5-[GpEse H AU 51T, Faid Hardl-® 6 5-BRbe
@1 YRIY T8 BT

2. HaTdIH® & 3, 5- [GEpIEhe qul JEIU=Ha SEmEhe 1 YIau0 gAT |

3. TaTalfa o 3, 5-[aTprEbe &1 YU Aol sl U] Hardli-—e & @l
HICwo) BATT |

4, TR T-coA TUT HARIM® 7 &1 ULeiuul gl gl |

Options :

8024375173. 1
8024375174.2




8024375175. 3
8024375176. 4

Question Number : 105 Question Id : 8024371295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Plants perceive effector proteins from pathogen to mount a strong defense
response. The following statements were made regarding signal transduction
events upon perception of a pathogen.

A. Influx of Ca%* and H* ions into the cell

B. Influx of K™ and CI ions into the cell

C. Efflux of Ca%* and H* ions out of the cell

D. Efflux of K™ and CI” ions out of the cell

Which one of the following combination of statements is correct?

1. A and B only
2. A and D only
3. B and Conly
4. C and D only

Options :

8024375177. 1
8024375178. 2
8024375179. 3
8024375180. 4

Question Number : 105 Question Id : 8024371295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Ule) Ueh =1 UIARET Sffehal RIUd ©e- & (¢l IRTei-d & UHIaIdIGs UieH! ol
TR @ § | U INTS-Id & TeR &3 WR g1 dId Ydbd URITE gensl & <5 |
Hifera ®y a9 T |

A PIHT H Ca2* T H* G &1 3F<die

B. BIR®IH K* TUT CI- 31541 3 3dig

C. PITHI & G182 Ca2~ TUT H* - 31T+ BT dlgdig

D. BIAHT & a6 K* aUT CI- A @I digdig

P B A B A HT el g ?

1. AdUIB
2ZAdYTD
3.B4dUIC
4 CdylD

Options :

8024375177. 1
8024375178. 2
8024375179. 3
8024375180. 4

Question Number : 106 Question Id : 8024371296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The action potential recorded from pace maker tissue (SA/AV node) of
mammalian heart is shown in the following diagram:

S ANA



mYy

VAV,

Time

On the basis of mechanism of generation of action potential in pace
maker tissue (SA/AV node), the following statements were proposed from the
abowve figure

A. ‘funny’ channels are activated at 'b’
B. Qutward flow of K™ occurs at ‘a’
C. T- Ca™* channels are closed at ‘c’
D. Fast Na*™ channels are opened at 'd’
E. The upward phase at 'd’ is largely due to inward movement of Na™
Which one of the following combinations represent correct statements?

1.Aand B
2.BandC
3.Cand D
4. DandE

Options :

8024375181. 1
8024375182.2
8024375183. 3
8024375184. 4

Question Number : 106 Question Id : 8024371296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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E. 'd’ TR 3{RIg] WIae] Tl Na* & 3<%y THRHA 9§ el &
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1.AJYIB
2. BdylC
3.Cd4lD
4 DOYTE

Options :



8024375181. 1
8024375182. 2
8024375183.3
8024375184. 4

Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Some metabolic aspects of the Red Blood Cell (RBC) are proposed in the following
statements:

A. Synthesis of fatty acids does not occur in the RBC
B. The pentose phosphate pathway is operative in the RBEC
C. RBC cannot synthesize reduced glutathione (GSH)

D. RBC does not contain enzymes like adenosine deaminase and pyrimidine
nucleotidase

E. NADH-dependent methemoglobin reductase system is present in RBC
Which one of the following combinations is NOT correct?

1. Aand B
2. BandC
3.Cand D
4 DandE

Options :

8024375185. 1
8024375186. 2
8024375187. 3



8024375188. 4

Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tl Yad BRI (REC) & S IUdgd! Geqa o (44 ®uH # uxarfad foear a1 &:
A. RBC H T4 2% &I Y901 981 BIal ¢ |

B. RBC #H U=l thiehe UY PO gl |
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friferd 1 |1 U ol Hgl 781 67

1. AdUIB
2 BdUlC
3.CdulD
4 DdYTE

Options :

8024375185. 1
8024375186. 2
8024375187.3
8024375188. 4

Question Number : 108 Question Id : 8024371298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Insulin is a heterodimer made up of A and B peptide chains joined by the intra
and interchain disulfide bridges formed between amino acid of respective chains
as suggested below:

A As Aqvq

B. A7 B>

C. Az B

D.As Bys

Which one of the following represents the correct disulfide bridges joining A and
B chains of insulin hormone?

1. A Band D
2A CandD
3.A Band C
4B, CandD

Options :

8024375189. 1
8024375190. 2
8024375191. 3
8024375192. 4

Question Number : 108 Question Id : 8024371298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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SEUTHISS Ud B Gl o7

1.ABdYID
2A CdUD
3A BOYIC
4B CdYID

Options :

8024375189. 1
8024375190. 2
8024375191. 3
8024375192. 4

Question Number : 109 Question Id : 8024371299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Fibrinogen, Factor |, is a soluble glycoprotein present abundantly in plasma.
Following biochemical characteristics are given below about this glycoprotein:

A. It is a dimer of the three polypeptide chains(A, Bg y)z

B. It is a dimer of two polypeptide chainsf4, Bgl>

C. The chains are covalently linked by 29 inter- and intra- chain disulfide bonds
D. The chains are covalently linked by 19 inter- and intra- chain disulfide bonds
Which one of the following represents a combination of correct statements?

1. Aand C
2. BandC
3.AandD
4 BandD

Options :

8024375193.
8024375194.
8024375195.
8024375196.

AW O~

Question Number : 109 Question Id : 8024371299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Fifeed ®F I UE el eyH! &1 Hel WKid B4l o7

1LATUIC

2.BAYUIC

3.AQYID
4 BdYID

Options :

8024375193. 1
8024375194. 2
8024375195. 3
8024375196. 4

Question Number : 110 Question Id : 8024371300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Testosterone is a steroid hormone about which a set of statements are given
below:

A It is secreted by Leydig cells of testes.
B. it is secreted by Sertoli cells of testes.
C. It inhibits secretion of luteinizing hormone from anterior pituitary.

D. It does not inhibit secretion of follicle-stimulating hormone from anterior
pituitary.

Which one of the following combinations represents correct statements about
testosterone?

1. Aand C
2. BandC
3.BandD
4 Aand D

Options :

8024375197. 1
8024375198. 2
8024375199. 3
8024375200. 4

Question Number : 110 Question Id : 8024371300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

8024375197.
8024375198.
8024375199.
8024375200.

AW D~

Question Number : 111 Question Id : 8024371301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A scientist synthesized four new chemicals which had mutagenic potential and
named them as C1, C2, C3 and C4. He tried to analyse the nature of mutations
caused by them and obtained the following results:

Mutations Mutation reversed by

produced by

mutagen 2-Amino  |Nitrous Hydroxyl Acridine
purine acid Amine Orange

C1 Yes Yes Some No

C2 No MNo No MNo

C3 Yes Yes No No

4 No MNo No Yes

Which one of the following answers describes the mutagenic potential of
the chemicals?

1. C1 causes transitions, C2 causes transversions or large deletions, C3 causes
transitions and C4 causes single base insertions or deletions

2. C1 causes transversions, C2 causes transitions, C3 causes transversions and C4
causes large deletions

3. C1 causes large deletions, C2 causes transitions, C3 causes transversions and
C4 causes single base insertions

4, C1 and C3 causes transversions while C2 and C4 causes transitions

Options :

8024375201. 1

8024375202. 2



8024375203. 3
8024375204. 4

Question Number : 111 Question Id : 8024371301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ua 31 - AR 99 6! $f Heifid 61 fors SaRacd-orH &HaT & a1 39|
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fasig- g @ |

1 ETa G- sidis, 2 A 9 AU Bldl 6, C3 H Caaa-g aidi o adl c4 &
Ushd &R AT BT @ |

4, C1dYT ¢3 ¥ ey~ eid1 & Sl 2 7Yl c4 ¥ U A Bidi & |




Options :

8024375201. 1
8024375202. 2
8024375203. 3
8024375204. 4

Question Number : 112 Question Id : 8024371302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fertilization of gametes containing chromosome with duplications or deletions
often results in children with disabilities.  What is the probability of a couple
where the male is karyotypically normal and the female has a pericentric inversion
in heterozygous condition producing a child with disabilities if crossing over took
place within the pericentric inversion in 26% of meiotic divisions?

In this case consider that fertilization with a gamete containing chromosomes
with duplications or deletion will result in disabilities.

1. 26%
2. 13%
3. 25%
4, 50%

Options :

8024375205. 1
8024375206. 2
8024375207. 3
8024375208. 4

Question Number : 112 Question Id : 8024371302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Tt a1 [9aiu=T ard oRET O god gEel & N9 8 30— gU gl § U
AT (Samane) gidl & | afe 26% et favreH! # fafmg aRe= ufads-
& 33 Bl & dl Ua T e AR URENEYT 9E & aul Aiel § fquagish
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1, 26%

2.13%

3. 25%

A4 50%

Options :

8024375205. 1
8024375206. 2
8024375207. 3
8024375208. 4

Question Number : 113 Question Id : 8024371303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In D. melanogaster, traits ‘a’, 'b’ and ¢’ result from recessive alleles that are
located on one of the autosomes. The resulting F; females were test crossed and
the following progeny (total of 1000) were obtained:

a b ct 350
ab c 25
a b c 380

a bet 35



a b'c 100

& b c* 10
& bt 85
a* bte 15

The following conclusions were made from the above data:
A. The order of genes is a b c and the distance between a and b is 8.5cM.
B. The order of genes is a c b and the distance between a and c is 8.5cM.
C. The order of genes is b ¢ a and the distance between b and cis 21cM.
D. The order of genes is c b a and the distance between b and c is 8.5cM.
Which one of the following options represent statement(s) that is/are correct?

1. A only
2AandD
3.Band C
4. D only

Options :

8024375209. 1
8024375210. 2
8024375211.3
8024375212. 4

Question Number : 113 Question Id : 8024371303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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a b c 25
a b r 380
a &b 35
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1. Bad A

2 ATYUTD
3.8TYIC
4. HFAD

Options :
8024375209. 1



8024375210. 2
8024375211. 3
8024375212. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The table given below shows the Lod score values of three different pairs of genes
studied for assessing if they are linked pairs:

Gene Pair "1’ (zene Pair 2" Sene Pair '3

Lod Score i 2 3

The following conclusions were made from the data given above:

A.  For gene pair 1 the probability of the genes being linked is 10 times more
likely than them assorting independently.

B. For gene pair 2, the Lod score 2 indicates that the probability of the genes
being linked is twice more likely than assorting independently.

C. The genes of pair 1 and 2, can both be considered as linked, while the genes
of pair 3 exhibits independent assortment.

D. The genes of pair 3 can be considered as linked.

Which one of the following options represents statement(s) that is/are
correct?

1. Aand C
2. BandD
3.AandD
4. AandB

Options :

8024375213. 1
8024375214.2
8024375215. 3



8024375216. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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2. BdylD
3AQYID
4 AdYUTB

Options :
8024375213. 1
8024375214.2



8024375215.3
8024375216. 4

Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gene ‘A’ in mouse is needed for its normal growth [normal size]. Mouse strains
with deletion in gene ‘A’ (A%") have been developed.

When the following cross is made
QA% A xAAT
all progeny (both males and females) are of normal size.
When the F1, progeny with the following genotypes are crossed:
T pdelAx pp D
50% of the progeny obtained are small in size.
The above observation can be explained by:

1. Maternal inheritance
2. Maternal imprinting
3. Paternal Imprinting
4. Maternal effect

Options :

8024375217. 1
8024375218.2
8024375219. 3
8024375220. 4



Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

96 U 9 g [ HISR] & [0 oF ‘A B A0Sl eidl o) 98l &1 3%l
o1 faefd farar man =8 i A faifoa & (ade)

o9 [ TEG0 Hd ]

O Adel A« AAT
i Tdlaa! (A3 Ud A1 ) BT HSR WHAY § | e HHE siHwEl ard
F1 Gaicdi &7 W& BRIl T
AdElA x Ap ©
509 WG Halladl &1 AR BICT© |
JRIad fddid &I 394 givld fegr o 9&di &

1. ATg® I
2. Al HLdh-
3. Ugw e
4 Hiqd JHId

Options :

8024375217. 1
8024375218.2
8024375219. 3
8024375220. 4

Question Number : 116 Question Id : 8024371306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In a mammal, coat colour is governed by gene B, The coat colour is either black or
brown, depending on whether the genotype is BB or Bb. It is not known which of
these genotypes lead to the black and brown colours. The genotype bb results in
albino coat colour. Further, the genotype ec suppresses the expression of coat
colour resulting in albino coat colour. An albino male was crossed with a brown
female and the resulting progeny had individuals with either black or brown coats.
From this observation it can be infered that the genotype of the male and female
that were crossed are:

1. BB cc and Bb CC, respectively
2. Bb cc and Bb CC, respectively
3. bb CC and BB CC, respectively
4. bb Cc and BB CC, respectively

Options :

8024375221. 1
8024375222. 2
8024375223.3
8024375224. 4

Question Number : 116 Question Id : 8024371306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



U YR H, G (@ra) @1 91 o9 B a1 Haf<d sid1 & | a0y &1 &1 a1 at
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(@UldgI) HIERU 6] T Id~ Bl & | dGURI, SHURY co TR T & SfHeafad
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H S-uEd 5

1. BB cc 9T Bb CC, HATTIR
2. Bb cc AT Bb CC, HATTER

3. bb CC TYT BB CC, HHER
4. bb Cc YT B8 CC, HHTER

Options :

8024375221. 1
8024375222.2
8024375223. 3
8024375224. 4

Question Number : 117 Question Id : 8024371307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diagram below shows the floral diagram of the family Malvaceae. Parts of the
diagram have been labelled from A-D.




Labels Floral characteristics

A i Monothecous stamens
B i [Syncarpous ovary
C iii  |Epicalyx
D iv  |Fused sepals
v |Apocarpous ovary

Which of the following combinations represent all correct matches between labels
and floral characters?

1. A-iv; B-v; C-iii; and D-i
2. A-i; B-v; C-iv; and D-ii
3. A-iii; B-ii; C-iv; and D-ii
4, A-i; B-ii; C-iii; and D-iv
Options :

8024375225. 1
8024375226. 2
8024375227. 3
8024375228. 4



Question Number : 117 Question Id : 8024371307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1. A-iv; B-v; C-iii; and D-i
2. A-i; B-v; C-iv; and D-ii

3. A-iii; B-ii; C-iv; and D-ii
4, A-i; B-ii; C-iii; and D-iv



Options :

8024375225 1
8024375226. 2
8024375227. 3
8024375228. 4

Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The following diagrams (A to D) show characteristic arrangement of stamens
within a flower and (i) to (v) enlist families of plants.

PEeY

.. Cucurbitaceae
il. Fabacesae

iil. Malvacsae

iv. Asteraceae

v. Euphorbiaceae

Which one of the following options has all correct matches between the
arrangement of stamens and the families they belong to?

TL.A-v;B—ii; C—iii; D-iv
2 A—ii;B—i;C—v; D -ii
3A—iiB—ii; C—iv;D-1i
4 A-v;B-i:C—ii:D-iv

Options :

8024375229. 1
8024375230. 2
8024375231. 3
8024375232. 4



Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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iii. HTeaw ( Malvaceae)
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V. m { Euphorbiaceae)
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1T.A—v; B—ii; C—iii; D - iv
2A—-IB-iC—viD-ii
JA-IB-iC—vD-i
4 A—vB-i:C-i:D-iv

Options :

8024375229. 1
8024375230. 2
8024375231. 3
8024375232. 4

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1



The figure below shows reptilian skull types (A to C), class of organisms (i to iii)
and examples of animals (X to Z).

i. Diapsid  X. Ichthyosaurs

ii. Anapsid Y. Snakes

iii, Euryapsid Z. Tortoise

Which one of the following options shows correct matches between the three
components?

ALY, B iii, Z, Ci, X
2B Y, AiX; Giii, Z
AL, Z B i, X CiLY
4. B iii, Y; A0, X; Ci, Z



Options :

8024375233. 1
8024375234.2
8024375235. 3
8024375236. 4

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



g warfes T3gu WUl & UeR (A T ¢, oiidl @f 9ot ° iy, aul
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i. Diapsid X. lchthyosaurs

ii. Amapsid Y. Snakes

iii. Euryapsid Z. Tortoise

f=ifea @11 O v fawey SWiea diF s/aual & &9 1 e Ha gUdl § 7

1A LY, Biii, Z; C i, X
2B, Y, AiX; Ciii, Z
3.A0,Z B i, X CLY
4. B, i, Y; A0, X; Ci, Z

Options :

8024375233. 1
8024375234.2
8024375235. 3
8024375236. 4

Question Number : 120 Question Id : 8024371310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Column | list names of organisms and column Il list stages in life cycle.

Column | Column |l
A |Taenia i. |Hexacanth
B |Obelia ii. lochidiom
C |Unio li. [Planula
D |Balanoglossus iv. |Tornaria
v.  [Miracidium

Which one of the following options represents all correct matches between the

two columns?

1. A-i; B-ii; C-iii; D-v
2. A-iii; B-ii; C-i; D-v
3. A-i;  B-iii; C-i; D-iv
4. A-ii; B-v; C-iii; D-iv

Options :

8024375237. 1
8024375238. 2
8024375239. 3
8024375240. 4

Question Number : 120 Question Id : 8024371310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1




DIGH | Siidl & AH qYT BIcH || Slia- deb @) Hae13]] ®f Jelidgs Bidl o |

®IcH | Bl Il
A ST (Taenia) ] YSP (Hexacanth)
B S (Obelia) i.  [Srfefaad (Glochidiom)
C Qﬁﬁfﬁ (Unio) iii @ﬂ?ﬂ (Planula)

D EGIEIEE (Balano-glossus)  |iv. EiEipes (Tornaria)
V. GHEIELE (Miracidium)
fFifea ®1H 91 U [adhed GHl dicaHl & did &l Hel Hdl W B &7

1. A-i; B-ii; C-iii; D-w
2. A-iii; B-ii; C-i; D-v
3. A-i;  B-iii; C-iip D-iv
4. A-ii. B-wv; C-iii; D-iv
Options :

8024375237. 1
8024375238.2

8024375239.3
8024375240. 4

Question Number : 121 Question Id : 8024371311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are statements regarding apomixis, i.e. asexual reproduction through
seeds

A. Sporophytic apomicts often produce a mix of clonal and sexual progeny

B. In gametophytic apomixis, the unreduced central cell gives rise to apomictic
embryo

C. In pseudogamy the endosperm is formed in the absence of fertilization

D. Apomixis can potentially be used to maintain hybrid vigour over many
generations

Which one of the following options represents the combination of all correct
statements?

1. Aand C
2. BandC
3.Cand D
4 Aand D

Options :

8024375241.
8024375242.
8024375243.
8024375244.

AW D~

Question Number : 121 Question Id : 8024371311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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2 BdUlC
3.CdulD
4 AQYID

Options :

8024375241. 1
8024375242.2
8024375243. 3
8024375244. 4

Question Number : 122 Question Id : 8024371312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The linkage density in a food web is a function of the connectance and the
number of species in it. It is defined as the average number of feeding links per
species. Which one of the following would have the highest linkage density?

>)=)
e@@@
Oa@a®

®
©) Oa®

:n-@n
Qpbes

Options :
8024375245. 1
8024375246. 2



8024375247. 3
8024375248. 4

Question Number : 122 Question Id : 8024371312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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(©) F
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B

A D
Options :

8024375245. 1



8024375246. 2
8024375247. 3
8024375248. 4

Question Number : 123 Question Id : 8024371313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ozone concentration in the atmosphere is measured in Dobson units (Du). An
ozone hole is said to have occurred when the concentration of ozone in the
region falls below 220 Du. The diagram of the globe below shows the location of
three study sites. The table below it shows values of ozone concentrations
recorded at the sites for two dates in 2009.

90N
_"_'-A
™ n
: L _J -
9075
| S.No| Recorded Ozone Values
| 30March2009 | 30Sept2009 |
i 270 290
il 400 240
i | 450 L 420
v 250 110




Which one of the following options represents the correct matches between
the study sites and the recorded ozone values?

1. A-i: B-iii and C-iv
2. A-ij: B-iii and C-i
3. A-ij: B-i.and C-iv
4 A-i: B-ii and C-iii

Options :

8024375249. 1
8024375250. 2
8024375251.3
8024375252. 4

Question Number : 123 Question Id : 8024371313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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5. No. Recorded Ozone Values
30 March 2009 30 Sept 2009

i 270 290
i 400 240
il 450 420
v 250 110

FHifdhd ®H 9 Uh fddbed 31=a- &F 9yl iicRad i 520 & 4" @
TeI A G © 7

1. A-i; B-iii and C-iv
2. A-ii; B-iii and C-i
3. A-ii; B-i and C-iv
4. A-i; B-ii and C-iii
Options :
8024375249. 1

8024375250. 2
8024375251. 3



8024375252. 4

Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A population of crickets invading a new grassland showed a population growth
pattern as shown in the figure

Carrying capacity {K)

Number of individuals

o

Tirme -

Following is the list of potential interpretations:

A. Environment is damaged due to population overshooting its K

B. The resources did not recover and population dies out

C. Carrying capacity is lowered due to shift in environmental conditions.

Which one of the following options/combination of options can correctly explain
the cricket growth pattern?

1. A only
2, B only
3.Aand Conly
4. B and C only

Options :

8024375253. 1
8024375254.2
8024375255. 3
8024375256. 4



Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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2. &Hdd B
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Options :

8024375253 1
8024375254.2
8024375255. 3
8024375256. 4



Question Number : 125 Question Id : 8024371315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are the spectra of plant forms (on the basis of where the plants bear
their buds) in different biomes (A to C).

wreea % of the various IHe forms in the
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Which one of the following options correctly identifies the biomes represented in
graphs A to C?

1. A- Mediterranean; B- Arctic; C-Tropical
2. A- Tropical; B- Desert; C-Temperate

3. A- Tropical; B- Temperate; C-Desert

4. A- Desert; B- Arctic; C- Temperate

Options :

8024375257. 1
8024375258. 2
8024375259. 3
8024375260. 4

Question Number : 125 Question Id : 8024371315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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=ifed & 91 U [ddked I A T ¢ H Yaiid SidiEl &1 Gciddl § Ugd &dl
2

1. A- HAERRIT: B- Joli-YadIT; C-IWdhicadig
2. A- IUHICEET; B- HEYH: C-Ziidis

3. A- SWTRICHHIT; B- A C- TFYH

4. A- AEYE: B- Sa-Ydig; C- iare

Options :

8024375257. 1

8024375258. 2

8024375259. 3
8024375260. 4

= percent of total flora

Question Number : 126 Question Id : 8024371316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are growth and survivorship curves,

A Growth curve B Survivorship curve

Carrying capacity

&

Population size

Mumber of survivors

&/

Time Percentage of maximum life span

Select the correct combination of growth curves from figure A and survivorship
curves from figure B given above, that would best represent r and K strategies,
respectively.

l.r=aand | K=bandn
band mkK=aand |

aandm: K =bandn

oW

band m: X = a and m

Options :

8024375261. 1
8024375262. 2
8024375263. 3
8024375264. 4

Question Number : 126 Question Id : 8024371316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A Growth curve B Survivorship curve

Carrying capacity
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Population size

MNumber of survivors

A !
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Time Percentage of maximum life span

G

SIRIG ARG A Y gig 9% TUT W B Y Jrieeiliad] dsh B Gid 9l ®] TG B
il oo soH=1: r YT k- Hifcal B Icptedl I Wi & |

TL.r=ad¥dl[K=bddln
2Zr=bdilinkK=adull
3r=ad¥dlmK=bd¥ln
dr=bdidlm; K=adidlm
Options :

8024375261. 1
8024375262. 2
8024375263. 3
8024375264. 4

Question Number : 127 Question Id : 8024371317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following four climatograms depict observation of mean temperature and



rainfall for four locations. | he solid lines depict temperature while the dashed line

depicts rainfall.
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Given below are five biomes:
l. Desert
Il Savannah
Ml Tropical rain forest
IV, Mediterranean
V. Conifer ecosystem
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Which of the following combinations correctly matches the climatograms to

the biomes?

1.A-iv B-ii C-1 D-v
2.A-v B-iv C-ii D-iii



3. A-iii B-ii C-i D-v
4. A-v B-iii C-ii D-i

Options :

8024375265. 1
8024375266. 2
8024375267. 3
8024375268. 4

Question Number : 127 Question Id : 8024371317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Fifera oR 9199 fog IR &3 & iad agHE oyl 391 & Sdaid- & a9id © |
Tdd 3] A9HH @ GEITd & S8 (6 39l 991 & Gid & |

o L]
5 40 c mM oy sp- ™M 300
20+ 1250 25| i 150
ﬂ 4 i i D [ i | ﬂ
Jan Jul Dec ¢ Jan Jul Dec
°C mm °C mim
c 40 40 30 200
20 / \._120 15+ \ 100
U 10 - Y,
0 Jan Jul Dec v Jan Jul Dec
L FEHE
i, gaHET
iii, IWTEicad guf a9
iv. YAETHEIT

v. Tipge Ui&yfae d<
F=ifed o9 1 ey Oy o= @ Wi 9§ 9diaal § Od &edl o7

1TA-iv B-ii C-i D-v
2. A-v B-iv C-ii  D-iii
3. A-0ii B-ii C-i D-iv
4 A-v B-iii C-ii D-i



Options :

8024375265. 1
8024375266. 2
8024375267. 3
8024375268. 4

Question Number : 128 Question Id : 8024371318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A tree built using BLAST cannot be used to infer phylogenetic relationships. Given

this, which of the following statements is NOT true about trees generated by

BLAST?

1. It is based on a distance method, where alignment similarity scores are used to
cluster sequences

2. It is an exhaustive tool where similar sequences are found by locating all
matches between multiple sequences simultaneously.

3. The generated tree is unreliable because the algorithm is data base-
dependent

4. It is built by first performance seeding following local alignments.

Options :

8024375269. 1
8024375270. 2
8024375271. 3
8024375272. 4

Question Number : 128 Question Id : 8024371318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



BLAST I SUTRT $ch §-14 7141 941 Siiddwiid Yasid diad de- & ¢ ugiT 5
eI T o 9hdl & | SU®I G&d GU BLAST 1 SUTNT 3 9418 71 9&l & TGH
©IF 91 HUH Hel 7el o7

1. 98 U gil USld IR 3R §, ofel fdb a0 §a=udl Sid @ IUGRT SHJHH(
@ Gga% 3 H fhar a8 |

2. U8 U 19D U4 & Sgl GHH SHH! &l U 91y dgd SHoHH! & did b 9H
Hdl &l Wivie? ®IYd fegr Sar e |

3. ST T g4 HfRae-i gl § Fifds da faf¥l (algorithm) SHidbal ®IY-3f3d
BIdTe |

4. 9% Ugd U-FsieA sieaud [the ®yiiae §3au § dOR gidl ¢ |

Options :

8024375269. 1
8024375270. 2
8024375271. 3
8024375272. 4

Question Number : 129 Question Id : 8024371319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are names of scientists and phrases describing their work, which may
or may not be matched

Name of Scientist Work
i Wallace A.  |Inheritance of acquired characters
i (Lyell B. |Natural selection is differential survival or

reproduction

i [Lamark C. |Processes that alter the earth are uniform through
time
v [Cuvier D. |Earth’s geology and natural history have been

shaped by periods of catastrophic extinction and
new creations

E. |Ontogeny recapitulates phylogeny

Which one of the following options represents correct matches between the
scientist and his/her work?

T.i- & §i-B: 0i-Civ-E
2. i- By ii- C; iii- Ay iv- D
3.i-A& ii-C iii-E iv-B
4.i- E ii- D; iii- A iv- C
Options :

8024375273. 1



8024375274. 2
8024375275. 3
8024375276. 4

Question Number : 129 Question Id : 8024371319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TR s I AU STs el Gl afdad e Ru s s s Aaa g gt ar

7ol I 51 gPd © |
ayI® & A BRI
i arery ( Wallace) A, [Oifera TamT &t gl
i e (Lyell) B. Wfﬁm HaHd Iaaiddl HYGl T4
5 |

iii W[Lamarkj C. (999 SEIur Eﬁfﬁ o weald dH gl
ST SURed=Id ¢ |

v [FET (Cuvier) D. |7l &1 Ydd dul Widbidd 3ider™ fam=end
faqwiiao ayl = oAl & ®ral gRI g0

e |

e, [fdIge Sfage @1 TRIgR &3l &
Heifed B W U faoeg a-e ayl Sc &1 &1 Je! Jd UK Bl o7

T.i-& §i-B ni-Civ-E
2.i-B; 1i-C; ni- Ay iv-D
3.i-A; iI-C iii-Eiv-B
40-E ii- D; iii- & iv- C
Options :



8024375273. 1
8024375274.2
8024375275. 3
8024375276. 4

Question Number : 130 Question Id : 8024371320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a population that is in a Hardy-Weinberg equilibrium, 40% of the plants are

recessive homozygotes and produce white flowers (WF). If the total number of

individuals in the population is 14000 plants, the numbers of homozygous

dominant red flowered (RF) plants and heterozygous pink flowered (PF) plants

would be;

1. RF- 5600 PF- 1891
2. RF- 1891 PF-6508
3. RF- 5600 PF-6508
4. RF- 5145 PF- 8855

Options :

8024375277. 1
8024375278. 2
8024375279. 3
8024375280. 4

Question Number : 130 Question Id : 8024371320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



s SHEE H §f for gifs-famast ararawar § B, 40% UiY SuHId] THGHG Haw]
o & OU 9hg 08 (WF) SdIed ®d 6 | O o9 | Siial ®1 o 951 14000

qrel Bt df gHgrEsl wHId! e gitrd (RF) 9t aur fagsgssl et gitid (o) qaf
ﬁmﬁﬂ

1. RF- 5600 PF- 1891
2. RF- 1891 PF- 6508
3. RF- 5600 PF-6508
4. RF- 5145 PF- 8855

Options :

8024375277. 1
8024375278.2
8024375279. 3
8024375280. 4

Question Number : 131 Question Id : 8024371321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

You wanted to conduct Miller-Urey experiment and used a simplified apparatus

with Tungsten electrodes. You heated the glassware at 500°C for 3 hours to

remove any organic contaminants. Gases NHz, CHy, CO and H; were introduced

fellowed by generating electric spark. Which of the essential ingredients did you

forget to add?

1..05

2. H:0
3. HCN
4, CHO

Options :
8024375281. 1
8024375282.2



8024375283. 3
8024375284. 4

Question Number : 131 Question Id : 8024371321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

37U FHRIR-GY (Miller-Urey) WART @31 dle oY1 €7 faggaey 4 Jad TXaiiod

IUSH] @] IUANT 1| H1U- Bid & a1 4 iUt HrdiFe Ygue! &l geH

& oW 500°C OX 3 9U¢ & o7 7 fasdT| NH3, CH., CO T H, 191 B Tae Bl

71 R faggdig TpichT =1 fondl 7411 314 S I1 U@ HiqHaRg® ged o

ST YT T

1.6

2. HxO
3. HCN
4, CHO

Options :

8024375281. 1
8024375282.2
8024375283. 3
8024375284. 4

Question Number : 132 Question Id : 8024371322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are the few statements on concepts related to genome evolution.

A. Presence of introns in some chloroplast genes suggests that endosymbiosis
(leading to organelle evolution) occurred before loss of introns in prokaryotes
and supports the hypothesis that genes coriginated as interrupted structures.

B. Negative selection is associated with increased rate of Nonsynonymous
substitutions as compared to synonymous substitutions.

C. Nucleotide substitution rates during evolution can be inferred from divergence
of the sequences that are non- functional or neutral,

D. Positive selection is associated with increased rate of Nonsynonymous
substitutions as compared to synonymous substitutions.

Which one of the following options represents a combination of all INCORRECT

statements?

1. A and C only
2. B and C only
3. A and B only
4. C and D only

Options :

8024375285. 1
8024375286. 2
8024375287. 3
8024375288. 4

Question Number : 132 Question Id : 8024371322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



TSl ShiHD [P DI HAURUN D GaH H 98 HYH A Wgd [de T 7 |

A $% sikdodd oiFl H 3oH o] JuRRfd wafdd dar e fb  sid-ggsiiad (3FTd]
& SIaD [dHTd ®f HiaaiiGd & are)  WibRale! § g<Hi & oid 8- 4 Ugd
o TR T 9T 39 HAYRY &1 THUH & & ol 9didl & [ o=l &1 Sl HH-H
TRa-T o g3 |

B. TS oRU gaHE M=l @] qo-l H SIS ®FY-d & d9¢ gu
WH Y EET R |

C. HU® GO & R laadiess G- & & og@ai o i 3&m
YAl qe B, 30 [agaq § uRufiE femr s g@ar - B |

D. YHRIHS a0 YHHIYS RIFHMG~Tal & qoFl § SaFd® *IE9-1d] & d¢ gu
R H Y FEHEa e |
fFEifesa ®IF 1 U [daed Gl 7Tea SYH( & Ha @ a=iidl 87

1. PaAA T C
2. HAA B AUTC
3. HAAATUTB
4. HIACTYTID

Options :

8024375285. 1
8024375286. 2
8024375287. 3
8024375288. 4

Question Number : 133 Question Id : 8024371323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Growth patterns of two species (grown alone or together) are shown in Figures A
and B.

A B 100
100 — Species 1
50 - = Species 2
50
0
0
= 100 s 100
5 P s -
S S0 s = 50 ‘
£y ' =3 i'
o ' — -
Fa -
o '-:‘_"' 0 L
100 100
Tirme lda:s‘l Time fﬂ!‘-"

Match the growth patterns with the correct type of interaction represented by

them

1. A-mutualism, B-commensalism

2. A-competition, B-parasitism

3. A-commensalism, B-mutualism

4. A-competition, B-resource partitioning

Options :
8024375289. 1



8024375290. 2
8024375291. 3
8024375292. 4

Question Number : 133 Question Id : 8024371323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



ol yenfadr &1 3 ey (kb o1 Oy H [Gefad gu) ol A aur 8 H fe@mr
2l

A B 100
100 — Species 1
30 == Species?
50
o
0
= 100 gy a0
o % 50 £
= =
o a !
2 2 J
-
n -
100

ﬂfl'elda'*n] T QI‘S}
3D BRI Wld Jig WU @ WY Telc WhR & URERS 41 &1 Hd a415U|

1. A-TeU®HIRE], B-GaHiferar

2. A-UTAgIfTdT, B-UTSiiad

3. A-GeHIfSId, B-Te gl

4. A-Ufagiid, g-daryq gy

Options :

8024375289. 1
8024375290. 2
8024375291. 3



8024375292. 4

Question Number : 134 Question Id : 8024371324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A group of researchers are testing two new agents, M1 and M2 for their efficacy
in selecting transgenic plants. When they performed tissue culture experiments
using three explants, A, B, and C without Agrobacterium transformation, and
selected the regenerated plants on M1 and M2, the following regene-ration
frequencies were obtained.

Regeneration frequencies (%) in presence
of different concentration of agents

Explant M1 conc. (mg/L) M2 conc. (mg/L)

type

20 60 100 10 15 | 20

A 44% | 21% Nil 8% Nil | Nil

B 93% | 30% | 10% Nil Nil | Nil

C 71% | 42% | 18% | 153% | 9% | 4%

Based on the above data, which one of the following conclusions is INCORRECT?

1. M2 is a stronger selection agent than M1 for explant types A and B.

2, A concentration of 100 mg/L of M1 and 15 mg/L of M2 can be used for
selection of transformed cells using explant type A.

3. Among the three explants, type C is least suitable at the tested concentrations
of M1 and M2

4. Use of M1 with explant type B is the most ideal combination for selection of
transformants.

Options :
8024375293. 1
8024375294. 2



8024375295.3
8024375296. 4

Question Number : 134 Question Id : 8024371324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



H=dYD! B TP o &l 70 Gardl M1 TYT M2 B GReiHT O1dl & gA1d 8 390! &0l
@l GHa @ g © | 99 d diF $diddl (explants) A, B, a4l C &I IGGAT f&A1
THIIFRTH (Agrobacterium) TURRY & Hdd Ha9- WA & faw fbar oy mi

Td M2 TR gH3dlied Ot @ ga1d fodr df FHeifhd gH3de IRaRd Wi b
T |

gerdl & faft= Orsar f Suifa § gHaareH
FRER (%)

FHdidd TBR M1 Tl (mg/L) M2 Tl (mg/L)

20 60 | 100 | 10 | 15 | 20
A 44% | 21% | YT | 8% | ¥ | TH
B 53% | 30% | 10% | ¥ | 9 | I
C 71% | 42% | 18% | 15% | 9% | 4%

IR HiFsl & MYR T, F=ied P-4 UH 50y Tead & 2

1. Daidd UBR A 941 B & AT M1 &1 ga1 4 M2 U guraeirell =9f4dl gar g1

2. Beildd YHR A BT JUIN &d 8¢ M1 B 100 mg/L Tl=5al a4l M2 BT 15 mg/L
rsd] EURd SIS & 9919 & o fdgr o 9adi @ |

3. TF Bdia®! & &, M1 3T M2 & GRIEE Tredisl IR C YOR a4 IUga o

|
4, ®URdl & 919 @ L M1 & Sdidd UHR B & U1y SURT  Tad A15Y

oA B |

Options :
8024375293. 1



8024375294. 2
8024375295. 3
8024375296. 4

Question Number : 135 Question Id : 8024371325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

RNA silencing is an important strateqy to control viral infection in plants. The
following statements were made regarding RNA silencing.

A. It is driven by small interfering RNA (siRNA) derived from double-stranded
form of viral RNA.

B. siRNA requires RISC for it function.

C. Many plant viruses encode proteins that act as suppressors of RNA silencing.

D. Viral P19 protein activates RNA induced silencing complex.

Which one of the following combination of statements is correct?

1.A, Band C
2B CandD
3A CandD
4 A BandD

Options :

8024375297. 1
8024375298. 2
8024375299. 3
8024375300. 4

Question Number : 135 Question Id : 8024371325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



greif § fqumueid dea0 @ g0 o 0 rna FRIASH0 e Aeagl gfdd g |
RNA FRIG@RT & g4 # 99 sy 9910 7Y |

A, TE [A9T9] RNA & [§-3oo® SiauT § dled T9/Y6H g3aald @3- ald RNA
(siRNA) § I BT & |

B. siRNA @I 304 &1 & AU RISC DI HTG=GHAl il © |

C. 3+ UIGY [auTu[e UIdH] &1 ©e- ®idl o ol [ RNA FRfas®eu (RIs & S
S B B

D. fau1u] P19 UIdH RNA URE FRfdaor affiy of afeg oedl 2 |

HUAT @1 FEifed ®IF 91 TP 9d Tel 87

1A BdYIC
2B CdylD
3.A, CdYID
4 A BdYID

Options :

8024375297. 1
8024375298. 2
8024375299. 3
8024375300. 4

Question Number : 136 Question Id : 8024371326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



One curie (Ci) is defined as the quantity of radioactive substance having a decay
rate of 2.22 X 10'? disintegrations per minute (dpm). How much of counts per
minute (cpm) will be recorded for 100 pCi of *?P when measured in a scintillation
counter working at 50% efficiency?

1.1.11 X 108
2111 X 108
3.2.22 X 10°
4,222 %10°

Options :

8024375301. 1
8024375302. 2
8024375303. 3
8024375304. 4

Question Number : 136 Question Id : 8024371326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e g3 (Ci) B dsarel uard forgeT &8 63 2.22 X 1012 fage ufd fiqe (dpm) &),
o S YRS faaT SId1 81 100 pCi 32p & faod= TUETE U 392 (cpm) Siiicifad
fohu 0T af SUST AU 50% D& U HIY B gl Ueb &R0 U7 H o]
SR

1.1.11 X 10°
2111 X 100
3.222X10°
4,222 %10°

Options :

8024375301. 1
8024375302. 2
8024375303. 3
8024375304. 4



Question Number : 137 Question Id : 8024371327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are a few statements related to plant breeding and genetics:

A. Non-random mating between individuals closely related to each other would
tend to promote a decrease in homozygosity at all loci.

B. Quantitative traits are typically influenced by environmental  conditions to a
greater extent than qualitative traits.

C. The "over dominance” theory for explanation of heterosis assumes that in a
heterozygote, only one of the alleles plays a functional role.

D. During domestication selected genes/traits show a decrease in diversity.

Which one of the following options represents a combination of all INCORRECT

statements?

1. A and D only
2B CandD

3. A and Conly
4. B and D only

Options :

8024375305. 1
8024375306. 2
8024375307. 3
8024375308. 4

Question Number : 137 Question Id : 8024371327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



i &@ DU UGy ol ayl Sfdiie! & JeH H f&g1 141 8

A U gR 4 gisedr ¥ dftd tes! & dig srrefess 9 a4l fawdl ©
YHYIAN & &Rl & HH & H Geldd eid o

B. URuImHTHS fafRmedit qunds fafmedre @ go1 § greidadl diaauliyg
uiiRyfoal 9 e uIidd gid &

C. TSl I ooRedT & g -aia gHraidar e 98 uRdicdd &l & [d U
fawaegE # drac Ua of GHfadhed] BUidD HHSI 3al Hdl o

D. ‘fﬁ@fﬂ (domestication) %Wgﬁaﬁﬂﬁ;ﬁﬁwm ﬁﬁﬁﬁﬁ’:ﬁ@ﬁ%

Fifhd & 91 Uo fadcd 94T TTad YAl & Ha @I =il 67

1. Had A TUT D
2.B,CTYUID

3. HAAATUIC
4, HIABTUD

Options :

8024375305. 1
8024375306. 2
8024375307. 3
8024375308. 4

Question Number : 138 Question Id : 8024371328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are a few terms in column & and column B.

Column A Column B
A, |Cisgenics (i) Synteny studies
B. |Zinc-finger proteins (ii) Linkage disequilibrium
C. |Comparative genomics (i) Site-specific recombination
D. [|Association mapping (iv) Use of endogenous plant genes
and regulatory elements

Which one of the fellowing options represents all correct matches between terms
of Column A and Column B?

1. A-i1v; B-iii; C-i: D- i
2 A-ii B-1: C-iv: D-ii
3. A-ii: B-iii: C-iv: D=
4, A-i: B- iv; C-ii; D-ii
Options :
8024375309. 1
8024375310. 2

8024375311. 3
8024375312. 4

Question Number : 138 Question Id : 8024371328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



. BicH A 3R Biad B H Do Weg/URHY fGT T W §

HITH A HIcTH B
N (FEEeEiEra) (i) == s
B. |[fid-TR uidH (ii) el SREERT

C. [daHid® Yeii-d] iy [euc-fafame ggied
D. [GEdYd HHE (iv)  |3fdsTd Orey Sl aur Hame
3{q4di &1 YL

Feifeed 5 ¥ 19 91 U [Adhcd diaq A JUTHIaH B & aid & segl /JIHTETAT B
gl 9! Aol URgd dRal 87

1. A-i1v; B-iii; C-i: D- i
2 A-ii B-1: C-iv: D-ii
3. A-ii: B-iii: C-iv: D=
4, A-i: B- iv; C-ii; D-ii
Options :
8024375309. 1
8024375310. 2

8024375311.3
8024375312. 4

Question Number : 139 Question Id : 8024371329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Following are the typical dot plots of cytometric data obtained from peripheral
white blood cells:

PLOT1 PLOT 2
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FSC-H FITC—anti CD8

R1 in plot 1 shows the selection window of cells which were further
analysed based on immunostaining (plot 2). Analyze the given data and choose
the correct option representing the type of cell population in plot 1 selected and
segregated in various quadrants of plot 2.

1. Plot 1= lymphocytes; Plot 2 — (A) CD4™ CD&"

(B) CD4™ CD8* (C) CD4*CD8 (D) CD4* CD8*
2. Plot 1— neutrophils; Plot 2 — (A) CD4™ CD&"

(B) CD4- CD8* (C) CD4* CD& (D) CD& CD4
3. Plot 1= lymphocytes; Plot 2 — (&) CD8™ CD4"

(B) CD4* CD& (C) CD4~ CD8* (D) CD& CD4*
4. Plot 1— lymphocytes; Plot 2 — (A) CD4™ CD8”

(B) CD4- CD8* (C) CD4* CD§ (D) CD8* CD4



Options :

8024375313. 1
8024375314.2
8024375315. 3
8024375316. 4

Question Number : 139 Question Id : 8024371329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 U Tad Yo eI § UK Grgeidics Hidbsl &l Weidd fdg e

&l T B;
PLOT 1 PLOT 2
10!
250 = P
ﬁ seadbl
4 e I O I
w» S P ;’:-!a'.":'
A ‘= Dl P o
ﬁ 150 — E 1] ‘-.:'l,..' "
w ..
100= |_|I_‘ c ol
& ] vealee| i '-.:'- 4t
E 1= -y -
o T ] I ] I ] ]
0 50 100 150 200 250 10 ELCR [ O 1
FSC-H FITC - anti CD8

o 1 H R1 3 SRR BT 994 Tare G2l g oAdT R U uicRam sifisH
TR faReror o T/ (3i7ei 2) | TS 71U 3fidrs] o1 [aReiyo B oyl 3eE 14
HIH G & UHR ayT e 2 & fafi=1 9qufal o g4 U 991 gyadhd! &I g2
dIcl Ul [dded DI A1 B

1. Plot 1— TUIBIRIRIGL Plot 2 — (A) CD4- CD8-

(B) CD4— €D8* (O CcD4Y*cD8 (D) CD4* CcD8*
2. Plot 1 - ~I=iEed : Plot2 5 (A) £D4* £D8*



T . . - —_— —_ -

(B) CD4-CD8* (L) CD4*CD8™ (D) CD8 CD4~
3.. Plot 1 THIPBDIRID, Plot 2 - (A) CD8* CD4-

(B) CD4T*CD8~ (O cD4-CcD8* (D)CD8 CD4™*
4. Plot 1 — TIHIBIBIRSBE Plot 2 — (A) CD4~ CD8*

(B) CD4-CcD8* (C)CD4* CcD8~ (D) CD8*CD4~

Options :

8024375313. 1
8024375314.2
8024375315. 3
8024375316. 4

Question Number : 140 Question Id : 8024371330 Question Type : MCQ Option Shuffling
Correct Marks : 4 Wrong Marks : 1

The data from an S1 nuclease mapping experiment for a transcript mfg7 using a
5'-end labelled probe are shown below.

Marker Probe Liver Kidney

750 —

500 —_— — —

250 —

: No Is Question Mandatory : No



150 — —

100 —

Following interpretations were made:
A. The liver RNA is 500 bp in length

B. The start site of the liver mfg7 transcript is 500 bp downstream of the 5' end of
probe.

C. The kidney makes two mfg1 transcripts, and the 3" end of one of these is
shorter than the other.

Which one of the following options represents the correct combination of the
interpretations?

1.A BandC

2. A and C only
3.B and C only
4. B only

Options :

8024375317. 1
8024375318.2
8024375319. 3
8024375320. 4

Question Number : 140 Question Id : 8024371330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



s 5-8R fafed duded (probe) BT Ud Hfafafl mfgr & T SUdRT &b S1
GfFeITs AHTAY FUNT ¥ Ui oS ol id a1 T/ g

Marker Probe Liver Kidney
750 | w— -
S00 | —— — E —
50| —-—
150 | w— —
100 =
50 —

A. TP (liver) RNA Tals 5 500 bp Bl

B. Tdd mfg1 WAy BT RY Tl YWigd & 5 BR ® 500 bp WA &

C. TFP (kidney) &l mfg1 U S91d €, U1 99 U U &1 3’ BR W 4 BT &
Fifed 4 ®H 9 e fae f[aag-meii & e Hd i axidl g7

1.A B, TUIC
2. hadd ATYIC
3. HAA B AU C
4, %Hdd B

Options :

8024375317. 1
8024375318.2
8024375319. 3



8024375320. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of a few restriction sites in the multiple
cloning site of a plasmid:

| - l | L]
| | | L

Hindil Xhaol Smal Pstl

The recognition sequences of the above enzymes and their digestion patterns
are shown below:

Hindlll : A‘AGCTT Smal : CCC'GGG
TTCGAlA GGG ‘CCE

Xhol : C'TCGAG Pstl: C'TGEAG
GAGCT lC GACGT lC

Which one of the following combinations of enzymes from the vector can be used
for cloning a DNA fragment obtained as a Sal | (GWTCGAC) - Hind Il (GTYWRAC)

fragment.

1. Sma | - Hind 1l
2. Xho | - Pst]

3. Xho | - Sma |
4 Hind lll - Pst |

Options :



8024375321. 1
8024375322.2
8024375323. 3
8024375324. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

U ToHS (5od) & Sgd A" Rd & $ Wiaa=- Rl &l Aid SRad faar
gl E’

| - l | L]
U | | | L

Hindin Xhal Smal Pstl

IR Tl3Hl & UgaH a9yl 3 Urad UfagH &f 3 s T4 8

Hindill : A‘AGCTT Smal: CCC'GEG
TTCGAlA GGG ‘CCE

Xhol C'TEGAG Pstl: C'TGCAG
GAGCT lC GACGT lC

U@ Sal | (GYTCGAQ) - Hind Il (GTYWRAC) TS WY U DNA TS & 5 &3 &
foTu Hae® ¥ tesHl & & 91 99 U HaE ST d @/ o 9@dl 67

1. Sma | - Hind 1l
2. Xho | - Pst|

3. Xho |- 5mal
4. Hind Il - Pst |
Options :

8024375321. 1



8024375322.2
8024375323.3
8024375324. 4

Question Number : 142 Question Id : 8024371332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of the T-DNA region of a transgene
construct and the Southern blot analysis (using Pst | digested genomic DNA) of
five independent transgenic lines (labelled as A to E) developed using the
construct. The probe used for hybridization is shown as a black box below the
construct (UT: Untransfarmed Plant)

Pstl Pstl

|>| ||!||l>

LB Promoter  Gene pA RB




Based on the above data, which one of the following options gives the correct list

of single insertion transgenic events?

1. B and C only

2. A, B and E only
3. A and B only
4. E only

Options :

8024375325. 1
8024375326.2
8024375327. 3
8024375328. 4

Question Number : 142 Question Id : 8024371332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



I U UReiH FE @1 7-DNA 83 YT 39 FE @ S e [Aeiad e 1
Ui Woa URiHT a9l (A § £ 9 AHiEa) &1 96 sdle G2yl (Pst | UTiad "ot
DNA 7 3R Hith) 3T IEg UidEy fear 141 5| eRldssegd & e 39 |
AT T Sudted @i AT o i U Sl it ol G Tl § (UT: e grand
are))

Pstl Pstl

T R NN

LB Promoter Gene A RE

JRIGd Hdsl & YR R, F=ifhd 1 91 T [docd UTHa U39 RIS
He13fl B o el UaH Bl o7

1. Had B AU C
2. ®Had A BTYTE
3. HadATUTE
4 HAAE

Options :

80243753251
8024375326. 2
8024375327.3
8024375328. 4




Question Number : 143 Question Id : 8024371333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are the restriction profiles obtained upon digestion of a 4.8 kb
plasmid with four different enzymes (E4, Ez, E3 and Ea).

By 48kb Ej+E2 = 500bp + 43kb
B2 48kb Ex+E3 = 400bp + 44kb
Ey i 48kbh E3+Ey = 2kb + 28kb
Ex 48kb Ej+Es = 19kb + 29kb

Based on the abaove information, which one of the following statements is correct?

1. E; and E4 have two recognition sites each in the plasmid.

2. Ez recognition sequence is located between E; and E3,

3. The sequence of recognition sites after digestion of the plasmid with Ez is: E4-
Ea Eq,

4. The sequence of recognition sites after digestion of the plasmid with Ez is: E+-
EaEa

Options :

8024375329. 1
8024375330. 2
8024375331. 3
8024375332. 4

Question Number : 143 Question Id : 8024371333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Ud 4.8 kb WIGHS (V) &1 IR [9fU= TSE4af (54, B, £; TUI £4) § U4 & 303

T UfdaH @il -iid UaH [l T/ g |

Ef : 48kb  E+E; = 500bp + 43kb
E, : 48kb  E;+Es = 400bp + 44kb
E; : 48kb  Ex+Ex = 2kb + 28kb
Es : 48kb  Ej+Ex = 19kb + 29kb

IWRITd a1 & SMYR TR, FHHifdd ©H 91 U $YH ol 87

1. Wifeas H EidUlEys PRIL7 ﬁfﬁ Uedl = (recognition sites) %!F
2. B, UgdH 3ifhH £, OY1 E; & d1d § 3fafq g

3. WIToHS @1 £ ¥ UM o USdid Uga Wdl &1 §5: E4-F2. F1 5l
4, TIoTS & E; 8 UTeA & 9<aid Ug g <l &1 $H: E1-E3.E4 B

Options :

8024375329. 1
8024375330. 2
8024375331.3
8024375332. 4

Question Number : 144 Question Id : 8024371334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The TH NMR spectrum of 13CH1Cl in CDCl3 shows two lines (doublet, 1:1 intensity)
spaced 140 Hz apart. The carbon ('*C) NMR spectrum of the same molecule
shows four lines (quartet, intensity ratio 1:3:3:1). Both 'H and '3C have nuclear
spin gquantum numbers [ = 1/2.

Based on the above information which one of the following options is
correct?

1. The muitiplicity pattern observed follows the 2n/+1 rule,

2. The 'H-"3C coupling constant is different in the 'TH  (Proton)  and '3C
(Carbon) spectra.

3. The multiplicity patterns are a consequence of the difference  in
gyromagnetic ratios of the 'H and '3C nuclear spins.

4. The muitiplicity patterns are dependent on the Larmor precessional
frequencies.

Options :

8024375333. 1
8024375334.2
8024375335. 3
8024375336. 4

Question Number : 144 Question Id : 8024371334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



BCH;Cl &1 cDCl; H TH NMR Ui 140 Hz &1 G4 R fa¥divd & 34l (g9, 1:1
ciferl) TR & | 5T 319 1 ®re (1) NMR GUishH TR 3@1U GR1idl & (I, diadl
HUTT 1:3:3:1). 'H TU1 BC Gl &1 ATHSY Fashul TEa | = 1/2 2| Fuad
Yol & HYR W 1S BiF 91 U fddbed Gt 87

1. $E1 T 9501 WY 2n/+1 FOE ST O S § |

2. H-13¢ Uaieie RRRI® 'H [@ieH) 9T 3¢ (@req) Wael § 5 2l

3. 950l e TH YT 3¢ & 1D UaehUll & YUideadid UMl H 3R 31 U6
ORUMH B

4, 9gAd1 TEY TR (Larmor) YRR ARG R Sfaditad gidl g

Options :

8024375333. 1
8024375334.2
8024375335. 3
8024375336. 4

Question Number : 145 Question Id : 8024371335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are a few statistical terms in Column A and their related features

and terms in Column B.

Column A Column B
A. | Standard (i) Measure of relative variability
deviation of given populations.
B. | Coefficient (i) Used to make inferences
of Variation about population means.
C. | Chi-square (i) | Positive square root of
test population variance.
D. | t-Test (iv) | Test hypothesis related to
categorical data from
inheritance studies.

Which one of the options given below correctly matches all items of Columns A
and B?

TA-iv,B-iii, C-ii,D-i
2 A-ii,B-iv,C-iD-iii
3A-ii,B-i,C-iv,D-ii
4 A-ii,B-i, C-iv, D-iii

Options :

8024375337. 1
8024375338.2
8024375339. 3
8024375340. 4

Question Number : 145 Question Id : 8024371335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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. faaRm i, SEE ol & 1 H (hy Mo & [og UG
Ui GRS

C. BI5-T

iii. g O adeiaal &1 Y E grHd |
Tdi&0 L

D. t- iv. SRR AT U Wt 401 7T Hids! & HaURul &
REitau GI&0r I Heifdd|

Fifed H U @19 91 Ue 9y Dl A 9T B & [9ud] &l dladl H gafed ol
87

TA-iv,B-ui,C-ii,D-i
2ZA-i,B-iv,C-i D-ii
3.A-i0i,B-1,C-iv,D-ii
4 A-i,B-i, C-iv, D-iii

Options :

8024375337. 1
8024375338.2
8024375339. 3
8024375340. 4



